
 1 

Supporting Information 
 

Oxazolidine Synthesis by Complementary Stereospecific and Stereoconvergent 
Strategies  

 
Michael B. Shaghafi, Robin E. Grote, Elizabeth R. Jarvo 
Department of Chemistry, University of California, Irvine 

 
Experimental Procedures and Analytical Data: 
I.  General procedures  page 1 
II. Procedures for Rhodium-Catalyzed Stereospecific Synthesis of Oxazolidines    

A. Synthesis and Characterization of Imines page 3 
B. Procedure for the Rhodium-Catalyzed Stereospecific Synthesis of page 4 

1,3-Oxazolidines and Characterization of Products 
C. Determination of Relative and Absolute Stereochemistry 

1. Determination of Relative Stereochemistry page 6 
2. Determination of Absolute Stereochemistry page 6 

III. Procedures for the Palladium-Catalyzed Stereoselective Synthesis  
of Oxazolidines 

 A.  Synthesis and Characterization of Imines page 7 
  1. General Procedure for the Synthesis of Sulfonyl Imines page 7 
 B.  General Procedure for the Palladium-Catalyzed Stereoselective  page 9 
       Synthesis of 1,3-Oxazolidines and Characterization of Products  
 C.  Determination of Relative Stereochemistry in the Nickel- and Palladium-  
  Catalyzed 1,3-Oxazolidine Formation         
  1. Determination of Relative Stereochemistry page 13 
  2. Determination of Absolute Stereochemistry page 14 
 D. Nickel-Catalyzed Synthesis of 1,3-Oxazolidines: General Procedure,  

Substrate Scope and Mechanistic Reactions 
  1. General Procedure for the Nickel-Catalyzed Synthesis of  page 15 
      1,3-Oxazolidines 
  2. Nickel-Catalyzed Mechanistic Experiments (Table 6) page 16 
  3. Characterization data for SI-4 and SI-5 page 16 
IV. 1H and 13C NMR Spectra and SFC Traces. 
   
 
I. General Procedures. 
 
All reactions were carried out under an atmosphere of N2.  All glassware was either oven 
or flame-dried prior to use.  Tetrahydrofuran (THF), diethyl ether (Et2O), 
dichloromethane (CH2Cl2), and acetonitrile (MeCN), were degassed with argon and then 
passed through two 4 x 36 inch columns of anhydrous neutral A-2 alumina (8 x 14 mesh; 
LaRoche Chemicals; activated under a flow of argon at 350 ºC for 12 h) to remove H2O. 
1H NMR spectra were recorded on Bruker GN-500 (500 MHz 1H, 125.7 MHz 13C), 
CRYO-500 (500 MHz 1H, 125.7 MHz 13C), DRX-400 (400 MHz 1H, 100 MHz 13C, 
161.9 MHz 31P, 376.5 MHz 19F), or Avance-600 (600 MHz 1H, 150 MHz 13C) 



 2 

spectrometers.  Proton chemical shifts are reported in ppm (δ) relative to internal 
tetramethylsilane (TMS, δ 0.00).  Data are reported as follows: chemical shift 
(multiplicity [singlet (s), broad singlet (br s), doublet (d), doublet of doublets (dd), triplet 
(t), doublet of triplets (dt), doublet of doublet of triplets (ddt), triplet of triplets (tt), 
quartet (q), multiplet (m), apparent doublet (ad), broad doublet (br d) and broad multiplet 
(br m)], coupling constants [Hz], integration).  The apparent multiplet (am) designation is 
given to resonances of the minor diastereomer which are overlapping with resonances of 
the major diastereomer and coupling constants could not precisely be extracted.  Carbon 
chemical shifts are reported in ppm (δ) relative to TMS with the respective solvent 
resonance as the internal standard (CDCl3, δ 77.23 ppm; d6-DMSO, δ 39.51 ppm; 
CD2Cl2, δ 54.00 ppm; CD3OD, δ 49.15 ppm).  Unless otherwise indicated, NMR data 
were collected at 25 ºC. Infrared spectra were obtained on a Perkin-Elmer Spectrum RX I 
spectrometer.  Analytical thinlayer chromatography (TLC) was performed using Silica 
Gel 60 F254 precoated plates (0.25 mm thickness).  Visualization was accomplished by 
irradiation with a UV lamp and/or staining with KMnO4, ceric ammonium molybdate 
(CAM), or p-anisaldehyde (PAA) solutions.  Flash chromatography was performed using 
Silica Gel 60A (170-400 mesh) from Fisher Scientific.  Melting points (m.p.) were 
obtained using a Mel-Temp melting point apparatus and are uncorrected.  High resolution 
mass spectrometry was performed by the University of California, Irvine Mass 
Spectrometry Center. 
 
Rh(cod)OTf was obtained as a gift by Heraeus Chemical Co. and was stored indefinitely 
in an inert air glovebox. 
 
Ni(cod)2 was purchased from Strem Chemical Co. and used as received within an inert 
atmosphere glovebox. 
 
Pd2(dba)3

.CHCl3 was used as received from Strem Chemical Co. 
 
(R,R)-Dipamp = (R,R)-Ethylenebis[(2-methoxyphenyl)phenylphosphine], and (S,S)-
Dipamp were purchased from Sigma-Aldrich Co. Josiphos, Walphos, and MeO-Biphep 
chiral-bidentate ligands were received as a gift from Solvias Chemical Co.  These ligands 
were stored indefinitely in an inert air glovebox.  All phosphine ligands were utilized as 
received and stored and used in an inert atmosphere glovebox.  
 
Butadiene monoxide was purchased from Alfa Aesar, 98% and used as received in the 
nickel-catalyzed reaction.  Distillation of commercial material over MgSO4 at 
atmospheric pressure was performed for use in the palladium-catalyzed stereoselective 
reactions. 
 
Enantiopure butadiene monoxide for use in Table 1 and Table 4 was prepared through the 
Jacobsen hydrolytic kinetic resolution of epoxides.1  
 
 
                                                
1 Schaus, S. E.; Brandes, B. D.; Larrow, J. F; Tokunaga, M.; Hansen, K. B.; Gould, A. E.; Furrow, M. E.; 
Jacobsen, E. N. J. Am. Chem. Soc. 2002, 124, 1307.  



 3 

TBAT (tetrabutylammonium difluorotriphenylsilicate) was purchased from Sigma-
Aldrich Co. as a crystalline white solid, kept in an inert atmosphere glovebox, and used 
as received. 
 
Titanium(IV) isopropoxide was distilled at a pressure of less than 1 Torr, at 
approximately 90 ºC (external temp.). 
 
Diglyme was distilled fresh over CaH2 and stored over 4 Å molecular sieves for no 
longer than three days.   
 
4 Å Molecular sieves were dried and stored in an oven at 170 ºC. 
 
All other chemicals were purchased commercially and used as received. 
 
II. Procedures for Rhodium-Catalyzed Stereospecific Synthesis of Oxazolidines 
(Tables 1). 
 

 
A. Synthesis and Characterization of Imines:  
General Procedure for Imine Synthesis: 
All imines were synthesized according to the modified procedure of Anderson and co-
workers as described below.2  Spectral data for imines 1b and 1c was consistent with the 
literature values.3 

 
In a round-bottom flask p-anisidine (0.615 g, 5.00 mmol, 1 equiv) was taken up in 
CH2Cl2 (25 mL), 2.0 g anhydrous magnesium sulfate was added, followed by addition of 
benzaldehyde (0.505 mL, 5.00 mmol, 1 equiv).  The reaction was allowed to stir 
overnight and was then filtered and the solvent removed in vacuo.  The off-white solid 
obtained was then washed with pentanes and brought to dryness under vacuum (1.04 g, 
98%).   

H

NPMP

 
(E)-N-benzylidene-4-methoxybenzenamine (1a) 1H NMR (CDCl3, 500 MHz) δ 8.47 (s, 
1H), 7.91–7.85 (m, 2H), 7.48–7.43 (m, 3H), 7.23 (ad, J = 8.9 Hz, 2H), 6.93 (ad, J = 8.4 
Hz, 2H), 3.82 (s, 3H).  Analytical data is consistent with reported literature values.4 
 

H

NPMP

Cl  
                                                
2 Anderson, J. C.; Howell, G. P.; Lawrence, R. M.; Wilson, C. S. J. Org. Chem. 2005, 70, 5665. 
3 (a) Cabiddu, S.; Caldoni, E.; Ianni, A.; Gelli, G.; Melis, S.; Bernard, A. M.; Cabiddu, M. G.; De Montis, 
S.; Fattuoni, C. Eur. J. Org. Chem. 2002, 3393. (b) Wang, J.; Fu, Y.; Zhang, B.; Cui, X.; Lei, L.; Guo, Q. 
Tetrahedron Lett. 2006, 47, 8293. 
4 Nakajima, T.; Inada, T.; Igarashi, T.; Sekioka, T.; Shimizu, I. Bull. Chem. Soc. Jpn. 2006, 79, 1941. 



 4 

 
(E)-N-(4-chlorobenzylidene)-4-methoxybenzenamine (1d) was prepared in quantitative 
yield from 4-chlorobenzaldehyde (0.703 g, 5.00 mmol) and p-anisidine (0.615 g, 5.00 
mmol) according to the general procedure. 1H NMR (CDCl3, 400 MHz) δ 8.44 (s, 1H), 
7.82 (ad, J = 8.4 Hz, 2H), 7.43 (ad, J = 8.4 Hz, 2H), 7.23 (ad, J = 9.0 Hz, 2H), 6.93 (ad, J 
= 9.0 Hz, 2H), 3.83 (s, 3H).  Analytical data is consistent with reported literature values.2 

 

H

NPMP

Br  
 
(E)-N-(4-bromobenzylidene)-4-methoxybenzenamine (1e) was prepared in quantitative 
yield from 4-bromobenzaldehyde (0.925 g, 5.00 mmol) and p-anisidine (0.615 g, 5.00 
mmol) according to the general procedure. 1H NMR (CDCl3, 500 MHz) δ 8.43 (s, 1H), 
7.76 (ad, J = 10.5 Hz, 2H), 7.59 (ad, J = 10.5 Hz, 2H), 7.24 (ad, J = 11.0 Hz, 2H), 6.93 
(ad, J = 11.2 Hz, 2H), 3.84 (s, 3H); 13C NMR (CDCl3, 125 MHz) δ 158.7, 157.0, 144.7, 
135.6, 132.2, 130.1, 125.7, 122.5, 114.6, 55.7; IR (film, cm-1) 3055, 2962, 2933, 1512, 
1265; HRMS-ESI (m/z): [M+H]+ calcd for C14H12NOBr requires 290.0180, found 
290.0180; mp 146 °C; TLC Rf = 0.5 (5% Et2O/pentanes). 
 

H

NPMP

O2N  
 
(E)-N-(4-nitrobenzylidene)-4-methoxybenzenamine (1f) was prepared in quantitative 
yield from 4-nitrobenzaldehyde (0.756 g, 5 mmol) and p-anisidine (0.615 g, 5 mmol) 
according to the general procedure.1H NMR (CDCl3, 400 MHz) δ 8.58 (s, 1H), 8.31 (ad, 
J = 8.7 Hz, 2H), 8.06 (ad, J = 8.8 Hz, 2H), 7.31 (ad, J = 9.0 Hz, 2H), 6.96 (ad, J = 8.5 Hz, 
2H), 3.85 (s, 3H).  Analytical data is consistent with reported literature values.5 
 

 
B. Procedure for the Rhodium Catalyzed Stereospecific Synthesis of 1,3-
Oxazolidines and Characterization of Products:  
Procedure with Racemic Vinyl Epoxide:  
In an inert atmosphere glovebox, rhodiumbis(cyclooctadiene)trifluoromethanesulfonate 
(5 mg, 0.01 mmol) was weighed into a round bottom flask.  The flask was sealed with a 
rubber septum and removed from the glovebox. Outside of the glovebox the septum was 
removed briefly to add imine (0.2 mmol, 1 equiv) and 4 Å molecular sieves (40 mg).  The 
septum was replaced and CH2Cl2 (1.0 mL) and butadienemonoxide (24 µL, 0.30 mmol, 
1.5 equiv) were then added.  The reaction was stirred under a N2 atmosphere at room 
temperature and monitored by thin layer chromatography.  When the reaction was 
complete the mixture was diluted with 10 mL of CH2Cl2, 10 mL of brine was then added 
and the layers separated.  The aqueous layer was washed 3 times with 10 mL of CH2Cl2 

                                                
5 Del Buttero, P.; Baldoli, C.; Molteni, G.; Pilati, T. Tetrahedron: Asymmetry 2000, 11, 1927. 



 5 

and the combined organic layers were then dried over sodium sulfate and concentrated in 
vacuo.  The crude material was purified by flash chromatography using Davisil® to yield 
an inseparable mixture of diastereomers. 
 

 
 
 

N

O

PMP

 
 
(±)-3-(4-methoxyphenyl)-2-phenyl-4-vinyloxazolidine (3c) Following the general 
procedure above imine 1c (0.2 mmol, 42 mg) was reacted with butadienemonoxide (24 
µL, 0.3 mmol, 1.5 equiv) for 4 hours. Purification by column chromatography using 
Davisil® eluting with 5%  Et2O/pentanes afforded 3c (47 mg, 86% yield).  1H NMR 
(CDCl3, 400 MHz) δ 7.60 (dd, J = 7.8, 1.6 Hz, 2H), 7.47–7.32 (m, 3H), 6.79 (d, J = 9.0 
Hz, 2H), 6.60 (d, J = 9.1 Hz, 2H), 6.10–5.98 (m, 1H), 5.86 (s, 1H), 5.39 (d, J = 17.3 Hz, 
1H), 5.34 (d, J = 10.3 Hz, 1H), 4.36–4.30 (m, 1H), 4.23 (dd, J = 8.3, 7.6 Hz, 1H), 3.87 
(dd, J = 8.5, 6.1 Hz, 1H), 3.74 (s, 3H); 13C NMR (CDCl3, 125 MHz) δ 152.6, 140.9, 
140.0, 138.2, 129.0, 128.7, 127.4, 117.3, 114.9, 114.6, 94.7, 70.8, 63.5, 55.8; IR (film, 
cm-1) 3064, 2983, 2933, 2868, 1641, 1618, 1512, 1454, 1242; HRMS-ESI (m/z): [M+H]+ 
calcd for C18H19NO2 requires 282.1494, found 282.1486; TLC Rf = 0.4 (5% 
Et2O/pentanes).  
 

N

O

PMP

MeO  
 
(±)-2,3-bis(4-methoxyphenyl)-4-vinyloxazolidine (3d) Following the general procedure 
above imine 1d (0.2 mmol, 48 mg) was reacted with butadienemonoxide (32 µL, 0.4 
mmol, 2 equiv) for 15 hours. Purification by column chromatography using Davisil® 
eluting with 10%  Et2O/pentanes afforded 3d (60% yield as determined by 1H NMR 
spectroscopy; product is inseparable from p-methoxybenzaldehyde). 1H NMR (CDCl3, 
400 MHz) δ 7.51 (d, J = 8.6 Hz, 2H), 6.94 (d, J = 8.8 Hz, 2H), 6.78 (d, J = 9.0 Hz, 2H), 
6.59 (d, J = 9.3 Hz, 2H), 6.09–5.98 (m, 1H), 5.80 (s, 1H), 5.53 (d, J = 17.7 Hz, 1H), 5.33 
(d, J = 10.2 Hz, 1H), 4.32–4.24 (m, 1H), 4.20 (dd, J = 8.3, 7.0 Hz, 1H), 3.87 (dd, J = 8.5, 
6.2 Hz, 1H), 3.83 (s, 3H), 3.74 (s, 3H); 13C NMR (CDCl3, 125 MHz) δ 160.1, 152.6, 
140.9, 138.4, 132.1, 128.6, 117.2, 114.9, 114.6, 114.0, 94.4, 70.7, 63.5, 55.8, 55.4; IR 
(film, cm-1) 3068, 2999, 2935, 2835, 1695, 1610, 1512, 1244; HRMS-ESI (m/z): [M+H]+ 
calcd for C19H21NO3 requires 312.1600, found 312.1593; TLC Rf = 0.4 (10% 



 6 

Et2O/pentanes).  
 

N

O

PMP

 
 
(±)-3-(4-methoxyphenyl)-2-p-tolyl-4-vinyloxazolidine (3e) Following the general 
procedure above imine 1e (0.2 mmol, 45 mg) was reacted with butadienemonoxide (32 
µL, 0.4 mmol, 2 equiv) for 4 hours. Purification by column chromatography using 
Davisil® eluting with 5%  Et2O/pentanes afforded 3e (51 mg, 86% yield). 1H NMR 
(CDCl3, 500 MHz) δ 7.45 (d, J = 8.0 Hz, 2H), 7.30–7.11 (m, 3H), 6.75 (d, J = 8.9 Hz, 
2H), 6.56 (d, J = 9.2 Hz, 2H), 6.04–5.93 (m, 1H), 5.79 (s, 1H), 5.50 (d, J = 17.6 Hz, 1H), 
5.30 (d, J = 10.1 Hz, 1H), 4.31–4.23 (m, 1H), 4.22–4.13 (m, 1H), 3.83 (dd, J = 8.6, 6.1 
Hz, 1H), 3.71 (s, 3H); 13C NMR (CDCl3, 125 MHz) δ 152.6, 140.9, 138.8, 138.3, 137.1, 
129.4, 127.3, 117.2, 114.8, 114.6, 94.6, 70.8, 63.4, 55.8; IR (film, cm-1) 2981, 2931, 
2866, 1614, 1464, 1512, 1244, 1041; HRMS-ESI (m/z): [M+H]+ calcd for C19H21NO2 
requires 296.1650, found 296.1645; TLC Rf = 0.4 (5% Et2O/pentanes).  
 

N

O

PMP

Cl  
 
(±)-2-(4-chlorophenyl)-3-(4-methoxyphenyl)-4-vinyloxazolidine (3f) Following the 
general procedure above imine 1f (0.2 mmol, 49 mg) was reacted with 
butadienemonoxide (32 µL, 0.4 mmol, 2 equiv) for 15 hours. Purification by column 
chromatography using Davisil® eluting with 5%  Et2O/pentanes afforded 3f (55 mg, 88% 
yield). 1H NMR (CDCl3, 500 MHz) δ 7.50 (d, J = 8.3 Hz, 2H), 7.36 (d, J = 8.7 Hz, 2H), 
6.76 (d, J = 9.0 Hz, 2H), 6.55 (d, J = 9.0 Hz, 2H), 6.03–5.91 (m, 1H), 5.79 (s, 1H), 5.49 
(d, J = 16.8 Hz, 1H), 5.31 (d, J = 10.3 Hz, 1H), 4.32–4.25 (m, 1H), 4.20 (dd, J = 8.4, 7.0 
Hz, 1H), 3.80 (dd, J = 8.5, 6.0 Hz, 1H), 3.72 (s, 3H); 13C NMR (CDCl3, 125 MHz) δ 
152.8, 140.6, 138.7, 138.0, 134.7, 128.9, 128.8, 117.5, 115.0, 114.7, 94.0, 70.8, 63.5, 
55.8; IR (film, cm-1) 3068, 2985, 2935, 2870, 2835, 1597, 1511, 1244, 1090; HRMS-ESI 
(m/z): [M+H]+ calcd for C18H18ClNO2 requires 316.1104, found 316.1095; TLC Rf = 0.4 
(5% Et2O/pentanes).  
 
 
Procedure with Enantioenriched Vinyl Epoxide: 
In an inert atmosphere glovebox, rhodiumbis(cyclooctadiene)trifluromethanesulfonate (5 
mg, 0.01 mmol) was weighed into a round bottom flask.  The flask was sealed with a 
rubber septum and removed from the glovebox.  Outside of the glovebox the septum was 



 7 

removed briefly to add imine (0.2 mmol, 1 equiv) and 4 Å molecular sieves (40 mg).  The 
septum was replaced and CH2Cl2 (1.0 mL) and butadienemonoxide (32 µL, 0.40 mmol, 2 
equiv) were then added.  The reaction was stirred under a N2 atmosphere and monitored 
by thin layer chromatography.  When the reaction was complete the mixture was diluted 
with 10 mL of CH2Cl2 and decanted away from the molecular sieves, 10 mL of brine was 
then added and the layers separated.  The aqueous layer was washed 3 times with 10 mL 
of CH2Cl2 and the combined organic layers were then dried over sodium sulfate and 
concentrated in vacuo.  The crude material was purified by flash chromatography using 
Davisil® to yield an inseparable mixture of diastereomers.  NMR data is reported for the 
major diastereomer only. 
 

N

O

PMP

 
 
(2R,4R)-3-(4-methoxyphenyl)-2-phenyl-4-vinyloxazolidine (3c) Following the general 
procedure above imine 1c (42 mg, 0.2 mmol) was reacted with butadienemonoxide (32 
µL, 0.4 mmol, 2 equiv) for 6 hours. Purification by column chromatography using 
Davisil® eluting with 10%  Et2O/pentanes afforded 3c (46 mg, 82% yield). Analytical 
data reported above for racemic compound. [α]24

D -31.2, [α]24
577 -33.6, [α]24

546 -35.3, 
[α]24

435 -44.6; SFC analysis (CHIRALPAK AD-H, 5.0% i-PA, 1.5 mL/min, 215 nm) 
indicated 99% ee for major diastereomer: tR (major) = 3.53 min, tR (minor) = 4.19 min.  
 
 

N

O

PMP

 
 
(2R,4R)-3-(4-methoxyphenyl)-2-p-tolyl-4-vinyloxazolidine (3e) Following the general 
procedure above imine 1e (45 mg, 0.2 mmol) was reacted with butadienemonoxide (32 
µL, 0.4 mmol, 2 equiv) for 10 hours. Purification by column chromatography using 
Davisil® eluting with 5-1%  Et2O/pentanes afforded 3e (48 mg, 82% yield). Analytical 
data reported above for racemic compound. [α]24

D -49.5, [α]24
577 -45.8, [α]24

546 -55.5, 
[α]24

435 -69.5; SFC analysis (CHIRALPAK AD-H, 5.0% i-PA, 1.5 mL/min, 215 nm) 
indicated 99% ee for major diastereomer: tR (major) = 4.27 min, tR (minor) = 4.92 min.  
 
 



 8 

N

O

PMP

Cl  
 
(2R,4R)-2-(4-chlorophenyl)-3-(4-methoxyphenyl)-4-vinyloxazolidine (3f) Following 
the general procedure above imine 1f (49 mg, 0.2 mmol) was reacted with 
butadienemonoxide (32 µL, 0.4 mmol, 2 equiv) for 12 hours. Purification by column 
chromatography using Davisil® eluting with 5-1%  Et2O/pentanes afforded 3f (52 mg, 
83% yield). Analytical data reported above for racemic compound. [α]24

D -40.5, [α]24
577 -

43.6, [α]24
546 -47.2, [α]24

435 -71.3. SFC analysis (CHIRALPAK AD-H, 5.0% i-PA, 1.5 
mL/min, 215 nm) indicated 99% ee for major diastereomer: tR (major) = 4.90 min, tR 
(minor) = 6.68 min.  

 
C. Determination of Relative and Absolute Stereochemistry 

 
1. Determination of relative stereochemistry of 1,3-oxazolidine: 
  

N

O

O

Hb

Hc

Ha

 
 
To determine the relative stereochemistry of Hb and Hc NOE experiments were 
performed.  When Ha was irradiated interaction with the phenyl ring was observed, but 
not with Hc and when Hb was irradiated interaction with Hc was observed but not with the 
phenyl ring.  This supports a relative syn stereochemistry.   
 

2. Determination of absolute stereochemistry: 
 

N
H

OH

O
H3CN

O

O
H3C 4 M HCl

dioxane
O

(R)-2
(R)

 
 
After determination of the relative stereochemistry, the absolute stereochemistry of the 
product was determined by hydrolysis of the oxazolidine to the aminoalcohol with 4 M 



 9 

HCl in dioxane.  The optical rotation of the amino alcohol was then taken and compared 
to literature values.6 [α]24

D +13.3 (c =1.0, CH2Cl2). 
 
  
III. Procedures for the Nickel and Palladium Catalyzed Stereoselective Synthesis of 
1,3-Oxazolidines 
 
A. Synthesis and Characterization of Imines: Methanesulfonyl imines 4a-4e were 
prepared according to a modified procedure reported by Jennings and Lovely, as 
described below.7 While Lovely and Jennings report catalytic use of titanium(IV) 
chloride, using 1.0-1.1 equiv of reagent provided consistently higher yields in our hands. 
Flame-dried glassware in each manipulation and anhydrous solvents were utilized to 
minimize hydrolysis of the imines. Toluenesulfonyl imine 1a and (E)-N-benzylidene-4-
methylbenzenesulfonamide 4a are known and spectra were consistent with literature 
values.8,9 

 
1. General procedure for the synthesis of sulfonyl imines.  
 

O

R H
H2N S

O

O
R1

TiCl4 (1.1 equiv)

CH2Cl2, 0–23 ºC

N

RH

R1O2S

 
 

To a 500 mL round bottom flask with magnetic stir bar was added methane- or 
toluenesulfonamide (20.0 mmol, 1.00 equiv) followed by CH2Cl2 (150 mL), aryl 
aldehyde (21.0 mmol, 1.05 equiv), and Et3N (9.8 mL, 70.0 mmol, 3.50 equiv).  After the 
stirring solution became homogeneous, the flask was placed in an ice bath and cooled to 
0 ºC.  Once at 0 ºC, a freshly prepared 1 M solution of TiCl4 in CH2Cl2 (20 mL, 1.0 
equiv) was added slowly over 10 minutes.  A color change over the time of addition of 
the titanium reagent was observed.  After addition of the titanium reagent, the solution 
was allowed to warm to room temperature slowly over 2 h and then continued to stir. 

 
After approximately 12–16 h, the crude reaction mixture was filtered through a pad of 

celite, washing with further CH2Cl2 (100 mL), then the filtrate was concentrated in vacuo 
at 40 ºC to achieve a thorough removal of the solvent.  Next, anhydrous toluene (200 mL) 
was added and the crude solution was stirred for 4 h at room temperature.  At this time 
the solution was again filtered through a pad of Celite, washing further with anhydrous 
toluene (100 mL), and the solvent was removed in vacuo at 50 ºC.  This procedure 
furnished material which was ≥95% pure after further drying at low pressure (~ 0.5 torr) 
and ambient temperature.  A drying tube fitted with a P2O5 sidearm could be utilized to 
obtain rigorously dry compound.    
 
                                                
6 Gnamm, C.; Franck, G.; Miller, N.; Stork, T.; Brödner, K.; Helmchen, G. Synthesis 2008, 3331-3350. 
7 Prepared according to: Jennings, W. B.; Lovely, C. J. Tetrahedron 1991, 47, 5561. 
8 Alonso, I.; Esquivias, J.; Gomez-Arrayas, R.; Carretero, J. C. J. Org. Chem. 2008, 73, 6401. 
9 Chen, D.; Chen, T.; Kong, L.; Zhen, R.; Zhen, S.; Wen, Y.; Zhu, G. Tetrahedron Lett. 2010, 51, 5131. 
 



 10 

 

H

NSO2Me

 
 
(E)-N-benzylidenemethanesulfonamide (4a) was prepared from benzaldehyde (831 µL, 
869 mg, 8.19 mmol) according to the general procedure and isolated as an amorphous 
yellow solid (66%, 1.00 g). 1H NMR δ (CDCl3, 500 MHz) δ 9.05 (s, 1H), 7.91 (d, J = 8.1 
Hz, 2H), 7.40 (d, J = 8.1 Hz, 2H), 3.19 (s, 3H), 2.52 (s, 3H); 13C NMR δ (CDCl3, 125 
MHz) δ 171.6, 146.9, 131.6, 130.3, 129.8, 40.6, 22.3; IR (film CDCl3, cm-1) 2929, 2883, 
1493, 1460, 1451, 1345, 1208, 1157, 1103; HRMS-ESI (m/z): [M+Na]+ calcd for 
C9H11NO2S requires 220.0408; found 220.0404; Mp = 88-89 ºC; TLC Rf = 0.6 (50% 
EtOAc/Hexanes, visualized under UV). 
 
 

H

NSO2Me

 
 
(E)-N-(4-methylbenzylidene)methanesulfonamide (4b) was prepared from p-
tolylaldehyde (0.94 mL, 8.0 mmol) according to the general procedure and isolated as an 
amorphous yellow solid.  1H NMR δ (CDCl3, 500 MHz) δ 8.99 (s, 1H), 7.86 (d, J = 8.1 
Hz, 2H), 7.34 (d, J = 8.0 Hz, 2H), 3.13 (s, 3H), 2.46 (s, 3H); 13C NMR δ (CDCl3, 125 
MHz) δ 171.6, 146.0, 131.6, 130.3, 129.7, 40.6, 22.3; IR (film CH2Cl2, cm-1) 3054, 2983, 
1599, 1569, 1421, 1316, 1264, 1144; HRMS-ESI (m/z): [M+Na]+ calcd for C9H11NO2S 
requires 220.0408; found 220.0404; Mp = 76-77 ºC; TLC Rf = 0.4 (25% 
EtOAc/Hexanes, visualized under UV). 
  

H

NSO2Me

F  
 
(E)-N-(4-fluorobenzylidene)methanesulfonamide (4c) was prepared from p-
fluorobenzaldehyde (550 µL, 5.00 mmol) according to the general procedure and isolated 
as an amorphous yellow solid (64%, 642 mg).  1H NMR δ (CDCl3, 500 MHz) δ 9.01 (s, 
1H), 8.02–7.98 (m, 2H), 7.23 (t, J = 8.5 Hz, 2H), 3.14 (s, 3H); 13C NMR δ (CDCl3, 125 
MHz) δ 170.4, 167.3 (d, J = 25.8 Hz), 134.2 (d, J = 9.7 Hz), 128.9 (d, J = 2.8 Hz), 117.2 
(d, J = 22.2 Hz), 40.7; IR (film CH2Cl2, cm-1) 3049, 2983, 1599, 1583, 1508, 1418, 1319, 
1264, 1144; HRMS-ESI (m/z): [M+Na]+ calcd for C8H8FNO2S requires 224.0157; found 
224.0149; Mp = 109-111 ºC; TLC Rf = 0.3 (25% EtOAc/Hexanes, visualized under UV). 
 



 11 

H

NSO2Me

MeO
OMe  

 
N-(3,4-dimethoxybenzylidene)methanesulfonamide (4d) was prepared from 3,4-
dimethoxybenzaldehyde (835 µL, 5.00 mmol)according to the general procedure and 
isolated as an amorphous yellow solid (81%, 989 mg).  1H NMR (CDCl3, 500 MHz) δ 
8.91 (s, 1H), 7.57 (d, J = 1.59 Hz), 7.47 (dd, J = 8.2, 1.8 Hz, 1H), 6.98 (d, J = 8.2 Hz, 
1H), 3.99 (s, 3H), 3.96 (s, 3H), 3.13 (s, 3H); 13C NMR (CDCl3, 125 MHz) δ 171.0, 155.7, 
150.0, 129.6, 125.4, 110.9, 110.2, 56.5, 56.3, 40.7; IR (film CH2Cl2, cm-1) 3032, 3015, 
2967, 2935, 2840, 1875, 1598, 1515, 1440, 1295, 1140; HRMS-ESI (m/z): [M+Na]+ 
calcd for C10H13NO4S requires 266.0463; found 266.0456; Mp = 133-134 ºC; TLC Rf = 
0.1 (25% EtOAc/Hexanes, visualized under UV). 
 

H

NSO2Me

Br  
 
N-(2-bromobenzylidene)methanesulfonamide (4e) was prepared according to the 
general procedure from o-bromobenzaldehyde (590 µL, 5.00 mmol) and isolated as an 
amorphous white solid (65%, 850 mg). 1H NMR (CDCl3, 500 Mhz) δ 9.48 (s, 1H), 8.21 
(dd, J = 7.7, 1.7 Hz, 1H), 7.71 (d, J = 7.8 Hz, 1H), 7.43–7.52 (m, 2H), 3.16 (s, 3H); 13C 
NMR (CDCl3, 125 MHz) δ 171.1, 136.2, 134.2, 131.1, 130.7, 129.4, 128.3, 40.5; IR 
(film CH2Cl2, cm-1) 3024, 3008, 2928, 1602, 1582, 1559, 1462, 1429, 1307, 1271, 1141; 
HRMS-ESI (m/z): [M+Na]+ calcd for C8H8BrNO2S requires 283.9357; found 283.9352; 
Mp = 119-120 ºC; TLC Rf  = 0.3 (25% EtOAc/Hexanes, visualized under UV). 
 
B. General Procedure for the Palladium-Catalyzed Stereoselective Synthesis of 1,3-
Oxazolidines and Characterization of Products: To an 8 mL screw top vial, in an inert 
atmosphere glove box, was added Pd2(dba)3

.CHCl3 (2.6 mg, 0.0025 mmol, 2.5 mol %), 
Josiphos-SL-J006-1 ligand (5.2 mg, 0.006 mmol, 6 mol %) and a magnetic stir bar. The 
vial was closed with a cap fitted with a Teflon septum and removed from the glovebox.  
A nitrogen line was affixed to the vial and diglyme (500 µL) was added at room 
temperature.  The vial was then stirred at room temperature for fifteen minutes.  Next, the 
vial was opened briefly under a high nitrogen flow and imine (0.10 mmol, 1.0 equiv) was 
added.  The solution was stirred another 5 minutes at room temperature followed by the 
addition of butadiene monoxide via syringe (10 µL, 0.12 mmol, 1.2 equiv). The reaction 
was stirred at room temperature for approximately twenty-four hours.  The crude reaction 
mixture was then diluted with CH2Cl2 (5 mL) and SiO2 gel was added.  After adsorption 
of the crude compound onto SiO2 by concentration of the solvent in vacuo, this material 
was loaded onto a SiO2 column for flash chromatography. An inseparable mixture of 
diastereomers was eluted utilizing a solvent gradient of EtOAc/Hexanes.  Visualization of 
the 1,3-oxazolidine products on TLC was accomplished via staining with PAA solution 



 12 

(dark violet spot).  
 

N

O

MeO2S

Ph  
 
(2S,4S)-3-(methylsulfonyl)-2-phenyl-4-vinyloxazolidine (5a): Following the general 
procedure above imine 4a (18 mg, 0.10 mmol) was reacted with butadienemonoxide (10 
µL, 0.12 mmol, 1.2 equiv) for 22 hours.  Purification by column chromatography with a 
gradient from 5-15% EtOAc/Hexanes afforded 5a (2:1 dr) as a yellow oil (24 mg, 96% 
yield).  1H NMR (CDCl3, 500 MHz) Major Diastereomer: δ 7.55 (dd, J = 8.1, 1.3 Hz, 
2H) 7.43–7.35 (m, 3H), 6.22 (s, 1H), 5.78 (ddd, J = 17.4, 9.8, 7.3 Hz, 1H), 5.36 (d, J = 
17.1 Hz, 1H), 5.23 (d, J = 10.2 Hz, 1H), 4.55–4.49, (m, 1H), 4.28 (dd, J = 8.9, 7.2 Hz, 
1H), 3.83 (dd, J = 9.1, 5.6 Hz, 1H), 2.81 (s, 3H); Minor Diastereomer: δ 7.51 (dd, J = 
7.8, 1.7 Hz, 2H), 7.35–7.43 (am, 3H), 6.12 (s, 1H), 6.07 (ddd, J = 17.1, 8.1, 7.2 Hz, 1H), 
5.46 (d, J = 17.1 Hz, 1H), 5.37 (d, J = 9.9 Hz, 1H), 4.46–4.55 (am, 1H), 4.23–4.31 (am, 
1H), 3.89 (dd, J = 8.7, 3.6 Hz, 1H), 2.71 (s, 3H);  13C NMR (CDCl3, 125.7 MHz) Major 
Diastereomer: δ 137.6, 135.9, 129.4, 128.7, 127.6, 119.1, 92.0, 71.2, 61.9, 39.4; Minor 
Diastereomer: δ 138.1, 134.6, 129.6, 128.7, 127.6, 120.1, 91.4, 71.1, 62.1, 41.5;  HRMS-
ESI (m/z): [M+Na]+ calcd for C13H17NO3S requires 290.0827; found 290.0833; TLC Rf 
= 0.4 (25% EtOAc/Hexanes, visualized under UV, PAA stains blue); [α]17

D –28.6 (c 0.9, 
CHCl3); SFC analysis (AD-H, 10.0% MeOH, 1.5 mL/min, 215 nm) indicated 91% ee for 
major diastereomer: tR (minor) = 3.27 min, tR (major) = 4.35 min.  
 

N

O

MeO2S

 
 
(2S,4S)-3-(methylsulfonyl)-2-p-tolyl-4-vinyloxazolidine (5b): Following the general 
procedure above imine 4b (20 mg, 0.10 mmol) was reacted with butadienemonoxide (10 
µL, 0.12 mmol, 1.2 equiv) for 23 hours.  Purification by column chromatography with a 
gradient from 5-15% EtOAc/Hexanes afforded 5b (3:1 dr) as a orange-brown oil (27 mg, 
99% yield). 1H NMR (CDCl3, 500 MHz) Major Diastereomer: δ 7.43 (d, J = 8.1 Hz, 
2H), 7.20 (d, J = 8.0 Hz, 2H), 6.17 (s, 1H), 5.80 (ddd, J = 17.6, 9.8, 7.5 Hz, 1H), 5.35 (d, 
J = 17.2 Hz, 1H), 5.23 (d, J = 10.3 Hz, 1H), 4.50 (aq, J = 6.8 Hz, 1H), 4.26 (dd, J = 9.0, 
7.2 Hz, 1H), 3.83 (dd, J = 9.1, 5.4 Hz, 1H), 2.79 (s, 3H), 2.36 (s, 3H); Minor 
Diastereomer: δ 7.39 (d, J = 8.0 Hz, 2H), 7.17–7.22 (am, 2H), 6.08 (s, 1H), 6.00–6.10 
(m, 1H), 5.45 (d, J = 17.0 Hz, 1H), 5.32–5.39 (am, 2H), 4.45–4.54 (am, 1H), 4.23–4.29 
(am, 1H), 3.87 (dd, J = 8.7, 3.7 Hz, 1H), 2.69 (s, 3H), 2.36 (am, 3H); 13C NMR (CDCl3, 
125.7 MHz) Major Diastereomer: δ 139.3, 136.0, 134.6, 129.4, 127.3, 119.0, 92.1, 71.2, 
61.8, 39.5, 21.4; Minor Diastereomer: δ 139.6, 135.2, 134.7, 129.4, 127.5, 119.9, 91.4, 
71.0, 62.1, 41.5, 21.5; IR (film CH2Cl2, cm-1) 3049, 2983, 1421, 1347, 1264, 1155; 



 13 

HRMS-ESI (m/z): [M+Na]+ calcd for C13H17NO3S requires 290.0827; found 290.0828; 
TLC Rf = 0.4 (25% EtOAc/Hexanes, visualized under UV, PAA stains blue); [α]24

D –
30.8 (c 2.6, CHCl3); SFC analysis (OD-H, 2.50% MeOH, 2.5 mL/min, 215 nm) indicated 
94% ee for the major diastereomer: tR (major) = 7.15 min, tR = 8.27 min. 
 

N

O

F

MeO2S

 
 
(2S,4S)-2-(4-fluorophenyl)-3-(methylsulfonyl)-4-vinyloxazolidine (5c): Following the 
general procedure above imine 4c (20 mg, 0.10 mmol) was reacted with 
butadienemonoxide (10 µL, 0.12 mmol, 1.2 equiv) for 25h.  Purification by column 
chromatography with a gradient from 5-15% EtOAc/Hexanes afforded 5c (2:1 dr) as a 
yellow oil (26 mg, 96% yield). 1H NMR δ (CDCl3, 500 MHz) Major Diastereomer: δ 
7.55–7.51 (m, 2H), 7.11-7.06 (m, 2H), 6.23 (s, 1H), 5.76, (ddd, 17.5, 10.3, 7.8 Hz, 1H), 
5.35, (dt, J = 17.2, 0.9 Hz, 1H), 5.24 (dt, J = 10.3, 0.9 Hz, 1H), 4.53–4.47 (m, 1H), 4.28 
(dd, J = 9.1, 7.2 Hz, 1H), 3.82 (dd, J = 9.1, 5.4 Hz, 1H), 2.82 (s, 3H); Minor 
Diastereomer: δ 7.46–7.58 (am, 2H), 7.03–7.13 (am, 2H), 6.10 (s, 1H), 6.00–6.11 (am, 
1H), 5.47 (d, J = 17.2 Hz, 1H), 5.39 (d, J = 10.0 Hz, 1H), 4.44–4.53 (am, 1H), 4.21 (dd, J 
= 8.7, 6.0 Hz, 1H), 3.88 (dd, J = 8.9, 3.6 Hz, 1H), 2.76 (s, 3H); 13C NMR (CDCl3, 125.7 
MHz) Major Diastereomer: δ 164.4 (d, J = 7.9 Hz), 135.8, 133.6 (d, J = 2.8 Hz), 129.2 
(d, J = 8.3 Hz), 119.2, 115.7 (d, J = 21.7 Hz), 91.4, 71.12, 61.8, 39.3; Minor 
Diastereomer: δ 162.4 (d, J = 7.4 Hz), 134.3, 134.2 (d, J = 3.2 Hz), 129.4 (d, J = 8.3 Hz), 
120.4, 115.6 (d, J = 21.7 Hz), 90.7, 70.9, 62.1, 41.5; IR (film CH2Cl2, cm-1) 3054, 2983, 
1604, 1423, 1347, 1264, 1226, 1155, 1091; HRMS-ESI (m/z): [M+Na]+ calcd for 
C12H14FNO3S requires 294.0576; found 294.0580; TLC Rf = 0.3 (25% EtOAc/Hexanes, 
visualized under UV, PAA stains blue); [α]24

D  –10.8 (c 2.8, CHCl3); SFC analysis (AD-
H, 10.0% MeOH, 2.0 mL/min, 215 nm) indicated 91% ee for the major diastereomer: tR 
(minor) = 3.56 min, tR (major) = 4.02 min. 
 

N

O

MeO

MeO2S

OMe  
 
(2S,4S)-2-(3,4-dimethoxyphenyl)-3-(methylsulfonyl)-4-vinyloxazolidine (5d):  
Following the general procedure above imine 4d (24 mg, 0.10 mmol) was reacted with 
butadienemonoxide (10 µL, 0.12 mmol,  1.2 equiv) for 23 hours.  Purification by column 
chromatography with a gradient from 10-25%  EtOAc/Hexanes afforded 5d (3:1 dr) as a 
tan oil (30 mg, 97% yield). 1H NMR (CDCl3, 500 MHz) Major Diastereomer: δ 7.11 
(adt, J = 8.6, 1.7 Hz, 1H), 7.06 (ad, J = 1.5 Hz, 1H), 6.88 (d, J = 8.3 Hz, 1H), 6.16 (s, 



 14 

1H), 5.81 (ddd, J = 17.4, 10.2, 7.6 Hz, 1H), 5.37 (ad, J = 17.0 Hz, 1H), 5.25 (d, J = 10.2 
Hz, 1H), 4.52 (aq, J = 6.4 Hz, 1H), 4.27 (ad, 8.9 Hz, 1H), 3.90 (s, 6H), 3.83–3.88 (m, 
1H), 2.80 (s, 3H); Minor Diastereomer: δ 7.08–7.14 (am, 1H), 7.00 (d, J = 1.7 Hz, 1H), 
6.88 (d, J = 8.2 Hz, 1H), 6.06 (s, 1H), 6.02–6.10 (m, 1H), 5.45 (d, J = 17.1 Hz, 1H), 
5.34–5.40 (am, 1H), 4.46–4.55 (am, 1H), 4.24–4.29 (am, 1H), 3.97 (dd, J = 13.6, 6.5 Hz, 
1H), 3.91 (s, 3H), 2.71 (s, 3H); 13C NMR δ (CDCl3, 125.7 MHz) Major Diastereomer: δ 
149.7, 149.2, 136.1, 129.9, 120.0, 118.9, 110.9, 110.1, 92.0, 71.1, 61.7, 56.1, 40.7; Minor 
Diastereomer: δ 151.0, 149.2, 134.6, 130.4, 120.2, 119.9, 110.8, 110.5, 91.3, 71.0, 62.1, 
56.2, 40.7 (2C); IR (film CH2Cl2, cm-1) 3015, 2967, 2935, 2840, 1598, 1515, 1440, 1378, 
1295, 1140, 1020; HRMS-ESI (m/z): [M+Na]+ calcd for C14H19NO5S requires 336.0882; 
found 336.0877; TLC Rf = 0.6 (50% EtOAc/Hexanes, visualized under UV, PAA stains 
blue); [α]24

D –56.6 (c 0.3, CHCl3); SFC analysis (AD-H, 10.0% MeOH, 2.0 mL/min, 215 
nm) indicated 89% ee for the major diastereomer: tR (minor) = 5.82 min, tR (major) = 
6.23 min. 
. 
 
 

N

O

MeO2S

Br  
 
(2S,4S)-2-(2-bromophenyl)-3-(methylsulfonyl)-4-vinyloxazolidine (5e): Following the 
general procedure above imine 4e (26 mg, 0.10 mmol) was reacted with 
butadienemonoxide (10 µL, 0.12 mmol, 1.2 equiv) for 24 hours.  Purification by column 
chromatography with a gradient from 5-15%  EtOAc/Hexanes afforded 5e (2:1 dr) as an 
orange-brown oil (22 mg, 67% yield). 1H NMR (CDCl3, 500 MHz) Major Diastereomer: 
δ 7.65 (dd, J = 7.8, 1.6 Hz, 1H), 7.61 (ad, J = 7.8 Hz, 1H), 7.37 (t, J = 7.7 Hz, 1H), 7.23–
7.27 (m, 1H), 6.48 (s, 1H), 6.00–6.08 (m, 1H), 5.47 (d, J = 17.1 Hz, 1H), 5.38 (d, J = 
10.4 Hz, 1H), 4.52 (q, J = 7.0 Hz, 1H), 4.24 (dd, J = 9.2, 6.9 Hz, 1H), 3.80 (dd, J = 9.2, 
6.2 Hz, 1H), 2.92 (s, 3H); Minor Diastereomer: 7.58–7.63 (am, 2H), 7.35–7.39 (am, 1H), 
7.21–7.27 (am, 1H), 6.40 (s, 1H), 6.03 (am, 1H), 5.54 (d, J = 17.0 Hz, 1H), 5.43 (d, J = 
10.0 Hz, 1H), (ddd, J = 7.3, 5.8, 1.5 Hz, 1H), 4.13 (dd, J = 9.2, 5.8 Hz, 1H), 3.87 (dd, J = 
9.2, 1.8 Hz, 1H), 2.98 (s, 3H); 13C NMR Major Diastereomer: δ (CDCl3, 125.7 MHz) δ 
136.4, 135.1, 133.8, 131.1, 129.1, 127.5, 124.1, 120.1, 91.8, 70.6, 62.4, 39.0; Minor 
Diastereomer: δ 136.7, 134.5, 133.6, 130.9, 129.1, 127.3, 123.5, 121.1, 94.4, 70.2, 62.5, 
41.4; IR (film CH2Cl2, cm-1) 3054, 2989, 2928, 2879, 1437, 1344, 1262, 1201, 1102, 
1023; HRMS-ESI (m/z): [M+Na]+ calcd for C12H14BrNO3S requires 353.9775; found 
353.9764; TLC Rf = 0.3 (25% EtOAc/Hexanes, visualized under UV, PAA stains blue);; 
SFC analysis (AD-H, 5.0% MeOH, 2.0 mL/min, 215 nm) indicated 86% ee for the major 
diastereomer: tR (major) = 6.65 min, tR (minor) = 7.25 min. 
 



 15 

N

O

MeO2S
Me

 
 
(2S,4S)-4-methyl-3-(methylsulfonyl)-2-phenyl-4-vinyloxazolidine (5f): Except for the 
following modifications, the general procedure above was followed.  Imine 4a (36 mg, 
0.2 mmol) was reacted with isoprene monoxide (49 µL, 0.50 mmol, 2.5 equiv) in diglyme 
(1 mL) for 48 hours.  Purification by column chromatography with a gradient from 5-
15%  EtOAc/Hexanes afforded 5f (3:1 dr) as a yellow oil (52 mg, 96% yield). 1H NMR δ 
(CDCl3, 500 MHz) Major Diastereomer: δ 7.53–7.59 (m, 2H), 7.36–7.44 (m, 3H), 6.26 
(d, J = 10.6 Hz, 1H), 6.22 (d, J = 10.8 Hz, 1H), 6.12 (s, 1H), 5.43 (d, J = 17.5 Hz, 1H), 
5.35 (d, J = 10.5 Hz, 1H), 3.96 (d, J = 8.9 Hz, 1H), 3.83 (d, J = 8.9 Hz, 1H), 2.75 (s, 3H), 
1.68 (s, 3H); Minor Diastereomer: δ 7.53–7.60 (am, 2H), 7.35–7.44 (am, 3H), 6.10–6.19 
(am, 1H), 6.12 (am, 1H), 5.36–5.41 (am, 1H), 5.32 (d, J = 11.0 Hz, 1H), 4.06 (d, J = 8.7 
Hz, 1H), 3.81–3.85 (am, 1H), 2.58 (s, 3H), 1.78 (s, 3H); 13C NMR δ (CDCl3, 125 Hz) δ 
139.2, 138.39, 129.43, 128.7, 127.7, 116.3, 92.38, 77.32, 66.26, 41.54, 22.05; IR (film 
CH2Cl2, cm-1) 3060, 2983, 2934, 2873, 1454, 1412, 1338, 1264, 1202, 1154, 1075, 1026; 
HRMS-ESI (m/z): [M+Na]+ calcd for C13H17NO3S requires 290.0827; found 290.0833; 
TLC Rf = 0.5 (50% EtOAc/Hexanes, visualized under UV, PAA stains blue); [α]24

D 
+15.8 (c 3.9, CHCl3); SFC analysis (CHIRALPAK AD-H, Gradient: (2.5% i-PA-18.5 
min, 10.0% iPA-10 min), 215 nm) indicated 62% ee for the major diastereomer: tR 
(minor) = 13.1 min, tR (major) = 23.5 min. 
 
 
C. Determination of Stereochemistry in the Nickel- and Palladium-Catalyzed 
Reaction:  

1. Determination of relative stereochemistry: Determined through NOESY 
correlation as is shown below.  Only cross peaks related to the cis-diastereomer were 
identified when a purified sample of the major diastereomer in the nickel-catalyzed 
reaction was analyzed.  NOESY analysis showed NOE cross-peaks between the aryl 
ring protons  (Ha and Hb) and the vinyl protons (Hc and Hd) of the 1,3-oxazolidine ring.  
Note: the 1H NMR chemical shifts of this diastereomer matched the chemical shifts of 
the major diastereomer in the palladium-catalyzed reaction employing the Josiphos 
ligand. This leads us to conclude that both nickel(DIPAMP) catalyst and 
palladium(Josiphos) catalyst reactions afford the cis-isomer as the major diastereomer. 

 
            NOESY: Observed Cross Peaks 



 16 

N

O

S
OO

Me Hc

Hd

Ni(cod)2 (10 mol %)
DIPAMP (10 mol %)
Ti(Oi-Pr)4 (30 mol %)

THF, -20 ºC

N S
O O

Me

Ph O+

Ha

Hb

 
              Cis Diastereomer 
 
 
 
 
 

2. Determination of absolute stereochemistry.  
a.  Preparation of authentic aminoalcohol (R)-SI-3: The following modified 

sequence was employed to produce (R)-SI-3 for comparison to material obtained from 
our catalytic reaction.  Overman rearrangement of SI-1 to provide (R)-SI2 was 
accomplished according to the procedure of Jirgensons and co-workers, and (R)-SI2 had 
spectral and optical rotation that were in good agreement with the reported values.8 

Hydrolysis and subsequent mesylation of SI-2 was then accomplished by a two step 
procedure described below to provide (R)-SI-3.  

 

O

O

NH

Cl3C

NH

CCl3

PdCl2(PhCN)2 (2.5 mol %)
(R)-Binap (3.0 mol %)

AgBF4 (8.0 mol %)
CH2Cl2, 23 ºC

N

O

(R)

Cl3C57 %

a) EtOH, 6 N HCl
b) TEA (4.5 equiv.)
      MsCl (1.1 equiv.)
      DMF, 0 ºC to rt

NH

OH
(R)

S
O

O

Me

[!]24D +4.5 (c 2.1, CHCl3)
SI-1 SI-2 (R)-SI-3

34 %
(over 2 steps)

 
SI-2 (277 mg, 1.29 mmol, 1.00 equiv) was dissolved in EtOH (2.0 mL) and 6 N HCl 

(2.0 mL) was added at room temperature and  stirred for 1h. After stirring for 1 h, the 
crude reaction mixture was concentrated in vacuo to give the HCl salt of the amino 
alcohol.  The product was then taken on directly by dissolving in DMF (2.5 mL), adding 
TEA (800 µL, 5.81 mmol) and stirring for 30 min.  After 30 min, MsCl (110 µL, 1.42 
mmol) was added via syringe to the stirring reaction mixture and the reaction was 
monitored by TLC for completion.  After no starting material remained the crude reaction 
mixture was diluted with EtOAc (15 mL) and NH4Cl (5 mL) and the organic layer was 
extracted (4x EtOAc).  The combined organic layers were then dried over Na2SO4, 
decanted and concentrated in vacuo to give a crude oil.  Purification was achieved by 
column chromatography eluting with a gradient from 20-40% EtOAc/Hexanes to produce 
(R)-SI-3, a clear oil (213 mg, 34%). 1H NMR δ (500 MHz, CDCl3) δ 5.82 (ddd, J = 17.0, 
10.5, 6.60 Hz, 1H), 5.41 (d, J = 17.1 Hz, 1H), 5.33 (d, J = 10.4 Hz, 1H), 5.01 (bd, 7.34 
Hz, 1H), 4.09 (addd, J = 12.4, 10.2, 5.75 Hz, 1H), 3.79 (dd, J = 11.3, 4.16 Hz, 1H), 3.62 
(dd, J = 11.0, 6.24 Hz, 1H), 3.01 (s, 3H), 2.11 (bs, 1H); 13C NMR δ (125 MHz, CDCl3) δ 
134.9, 118.6, 65.25, 58.17, 42.15; IR (film CH2Cl2, cm-1) 3500, 3362, 3285, 3054, 2989, 
2934, 1421, 1325, 1267, 1152, 1075, 984; HRMS-ESI (m/z): [M+Na]+ calcd for 



 17 

C5H11NO3S requires 188.0357; found 188.0359; TLC Rf = .05 (50% EtOAc/Hexanes, 
PAA stain purple); [α]24

D +4.85 (c 2.1, CHCl3). 
 
a.  Hydrolysis of 5a to aminoalcohol SI-3: 

MsN

(S) O

(S)

Ph

6 N HCl, MeOH
rt, 12h

NH

OH
(S)

S
O

O

Me

5a (S)-SI-3

Pd2(dba)3
.CHCl3 (2.5 mol %)

Josiphos-SL-J001-1 (6.0 mol %)NMs

PhO

(±)-2 4a

+

[!]23D -4.9 (c 1.6, CHCl3)  
 
 
 (S)-N-(1-hydroxybut-3-en-2-yl)methanesulfonamide (S)-SI-3 Oxazolidine 5a (72 mg, 
0.28 mmol), which had been prepared according to the general asymmetric palladium-
catalyzed method using Josiphos ligand SL-J001-1, was dissolved in MeOH (1 mL) 
followed by addition of 6 N HCl (260 µL, 1.55 mmol) and stirring for 1 hour. After 1 
hour the crude reaction solution was diluted with EtOAc (15 mL) and satd. NaCl solution 
(5 mL) and the organic layer was extracted (3x EtOAc). The combined organic layers 
were dried over Na2SO4, decanted and concentrated in vacuo. The crude oil was then 
purified by column chromatography to remove benzaldehyde. A small plug of silica 
eluting first with 20% EtOAc/Hexanes, followed by 75% EtOAc/hexanes produced clean 
(S)-SI-3. The optical rotation of the was then taken:  [α]24

D –4.95 (c 1.4, CHCl3), and is  
consistent with the formation of the (S,S)-1,3-oxazolidine.   
 
D. Nickel-Catalyzed Synthesis of 1,3-Oxazolidines: General Procedure, Substrate 
Scope and Mechanistic Reactions (Table 6):  
 
   

74 % yield
! 95:5 d.r.; 61% e.e.

76 % yield
! 95:5 d.r.; 62% e.e.

63 % yield
! 95:5 d.r.; 65% e.e.

88 % yield
! 95:5 d.r.; 65% e.e.

N

O

MeO2S N

O

MeO2S N

O

MeO2S

F3C

N

O

MeO2S

F
SI-45c5b 5d

 
   

1. General procedure for the nickel-catalyzed synthesis of 1,3-oxazolidines: To an 8 
mL screw-top vial with septum, in an inert-air glove box, was added Ni(cod)2 (5.5 mg, 
10 mol %) and (S,S)- or (R,R)- DIPAMP ligand (9.2 mg, 0.02 mmol, 10.0 mol %).  
TBAT (108 mg, 0.20 mmol) was then added, the vial was capped and subsequently 
removed from the glove box.  An N2 line was added, followed by the addition of 1 mL 
THF and the vial was placed in a bath at -20 ºC to stir for 15 min.  After the 15 min. 
pre-stir, the vial was briefly removed from the bath, opened under high flow of N2 for 
addition of the solid aryl imine  (0.20 mmol), then placed back in the -20 ºC bath.  After 
another 5 minutes of stirring, butadiene monoxide (±)-2 (19 µL, 0.24 mmol) was added 



 18 

via syringe, followed immediately by addition of Ti(Oi-Pr)4 (18 µL, 0.30 mmol) via 
syringe.  The reaction was then stirred for 16-24 h while monitoring conversion by TLC 
for disappearance of imine (UV).  When the reaction was judged complete, it was 
filtered through a small pad of celite rinsing with CH2Cl2 (15 mL).  The filtrate was 
then diluted with DI water (5 mL) and extracted with CH2Cl2 (x 3).  The combined 
organic layers were dried with Na2SO4, decanted and concentrated in vacuo.  
Purification was achieved through SiO2 gel chromatography (15-25% Et2O/pentanes) to 
provide analytically pure products.  Characterization data for compounds 5a-5c 
matched values for oxazolidine products produced using the palladium-catalyzed 
method (with the exception of optical rotation).  

 
2. Nickel-catalyzed mechanistic experiments (Table 6): For reactions performed 
utilizing enantiopure (99% ee) butadiene monoxide [(R)-2], the general nickel-
catalyzed procedure above was followed.  The only deviations from the general nickel-
catalyzed reaction procedure were the use of enantiopure vinyl epoxide (R)-2 and the 
use of either dppe, (R,R)- or (S,S)-Dipamp as ligand. 

 
3. Characterization data for SI-4 and SI-5 

 

N

O

MeO2S

F3C  
 

3-(methylsulfonyl)-2-(4-(trifluoromethyl)phenyl)-4-vinyloxazolidine (SI-4): 
Following the general procedure above imine SI-5 (50 mg, 0.20 mmol) was reacted with 
butadienemonoxide (19 µL, 0.24 mmol, 1.2 equiv) for 48 hours.  Purification by column 
chromatography with a gradient from 15-25% Et2O/pentanes afforded SI-4 (19:1 dr) as a 
pale yellow oil (41 mg, 67% yield). 1H NMR δ (CDCl3, 600 MHz) δ 7.69 (d, J = 8.2 Hz, 
2H), 7.65 (d, J = 8.2 Hz, 2H), 6.27 (s, 1H), 5.71 (ddd, J = 17.5, 9.8, 7.2, 1H), 5.35 (d, J = 
17.0 Hz, 1H), 5.23 (d, J = 10.1 Hz, 1H), 4.50 (aq, J = 6.8 Hz, 1H), 4.32 (dd, J = 9.1, 7.2, 
1H), 3.79 (dd, J = 9.2, 6.2, 1H), 2.90 (s, 3H); 13C NMR δ (CDCl3, 125 MHz) 141.9, 
135.4, 131.5 (d, J = 32 Hz), 127.7, 125.75 (q, J = 3.9 Hz), 125.70 (d, J = 2.2 Hz), 119.4, 
91.1, 71.3, 62.0, 38.3; HRMS-ESI (m/z): [M+Na]+ calcd for C13H14F3NO3S requires 
344.0544; found 344.0543; SFC analysis (AD-H, 10.0% MeOH, 1.5 mL/min, 215 nm) 
indicated 61% ee for the major diastereomer: tR (major) = 4.04 min, tR (minor) = 4.39 
min. 
 
 (E)-N-(4-(trifluoromethyl)benzylidene)methanesulfonamide (SI-5) 
 

H

NSO2Me

F3C SI-5  



 19 

 

SI-5 was prepared from 4-trifluoromethylbenzaldehyde (550 µL, 5.00 mmol) according 
to the general procedure and isolated as an amorphous yellow solid (57%, 714 mg). 1H 
NMR (CDCl3, 500 MHz) δ 9.10 (s, 1H), 8.10 (d, J = 8.0 Hz, 2H), 7.81 (d, J = 8.1 Hz, 
2H), 3.18 (s, 3H); 13C NMR (CDCl3, 125 MHz) δ 170.2, 136.1 (q, 32.8 Hz), 135.1, 
131.4, 126.3 (q, 3.70 Hz), 123.4 (d, 273 Hz), 40.3; IR; HRMS-ESI (m/z): [M+Na]+ calcd 
for C9H8F3NO2S requires 274.0125; found 274.0127. 
 
 
 
 
 
 
 

 

 



o
/

A\
T \- /
J,,,

'y-Z

d), /

T

a

fD

l
c=

7.61 166
7.60730
7.59160
7 58852
7.44221

7.43851
7.42674
7 .420tt
7 .4AA12

40463
40055
39581
38137
31202
35605
?1067

5.35768
5.33205
s.32943

/-4.3327 4

, / -4.31146
s,-4 254a3

-=-4.23678

\L4 23299
LA 21576

:<- l .8911s
_\\-3.87604
-\\\L3 8ior5

\\Lr 85s0i

\L3.74441L3 7r2q6

EE.t t+?QB Es;$Fqst,  g ixF i  ,sEsdFPsB:3FdE"E#EjFT 
E=EE:

=" J I  1 G t  H*g ' i  6"  :
1-8?u5F

-  .F
r  5 g ,E 3 E t l= -  

3 ;  -  '
- - , ,e* ;  i  F ;  -  EEa :eB ? sE f l  5
HEi: : : i I i  I  e cn4 E=F I  HEEu"i-EEi Cs;sl , "gg ; i ii6 'sBsEBBd b-L-rJHf l  Eea; i i  EEE3sE;$3[-- ;Ha--Bss; **h6;*ErE+Es: s -r .  i  - re i  i  t tu- ; t  s{+ E 

-  -

-0.0396r



N
I

-oa
o-)
o

a
c

=
I

CD
O
J
O

a
E
0
O

-l
C
3

=
d
J

I

o
O
O

-
)

o

(/)
o

-152.63

-144 

e1

-13€.19

-136.95
/-128.94

'a/,-128 
88

L12E E9
-\-1?7'36

ttT.91
t17.32
r 15.98
114.86
114.63
114.48

,,--
\-

\-

-9471

- 9l . !6

-1731<-71'11
-7686

- lii:"

-  63.45
- 61.25

'zz:,1

t9 ;

N

o-

o



Method Name:REG-ADH-5lPA-1 5mlmin
Run Name:REG_lV_874

Date:5/1 8/201 1
Time.5:30:33 PM

CCP2.tmp.DAT - HP1 100 DAD

\

N-\
"(o/
3c

a

o
o

-Fa

tnoex Name Start Time End RT Offset Quanti tv Heioht Area Area

lMinl IMinl tMinl tMinl f% Areal tuvl [uV.Minl l%1
3 UNKNOWN 3.58 3.70 3.87 000 84.81 1553.8 t l t .o 84.806

UNKNOWI' 4.44 4.52 0.00 0.90 13.8 1.4 0.902
2 UNKNOWN 4.52 4.63 4.77 000 14.29 223.7 21 .5 14.292

Total 100.00 1791 .3 150.4 100.000



Method Name:REG-ADH-5lPA-1 5mlmin
Run Name:REG_|V_95' l

Date:511612O11
Time:1:09 51 PM

1,200

1 ,100

1,000

900

800

7QO

600

500

oY) 
\

\Aru-r

,n- fo'

4

6 7 B 9 10 11 12 13
Min

lV 951 .DATA - HP1 100 DAD Signal  A

I ndex Name Start Time End RT Offset Quanti tv Height Area Area

IMinl lMinl fMinl 'Minl lok Areal f uVl 'uV.Minl l%1
UNKNOWN 3.40 J.3 J 3.71 000 41 44 1380 9 104.2 41 445

2 UNKNOWN 4.03 4.19 0.00 50.96 1290.3 I  26.z 50.960
3 UNKNOWN N ?E 447 4.66 0.00 7.60 189.0 19.1 7.595

Total 100.002860.3 251 .5 100.000

Liz
Text Box
(rac)

Liz
Typewritten Text



o
T

\ / /  =
v'.. 

/"'rz
(.) I \ ,zz
ct u,u,/"',2

7.52554
1.5?012
7.50863
7.503S0
7.33054
t.27037
6.95317
6.94815
6.93634

6. 33138
6,8S769
6.87594
6.78983
6_ 78410
6.11289
6.76708
6.73429
6.7 1562
6.60742
5.60161

::1 \-E Eon?A

\\L6.58471
\L6.46759

L6 l l4q4

-1.62654

1.0000

l .  1529
o'w-

OS036-_-

2. f f i6 

-2.5971

NENEN93=

\-iilili
1\\ \ :6 0347e

\ \ \ \ -6.01767
\ \L5 00894

\\L: sszos
\ \  L5 A0071

\ \L5 54845

\L: 
:o:rs

\ \L5.34656
\L5.32110
Ls.:osoe

f A.297Aa

/-4.?B?73

/L- 
4 26581

/////-a.22506
4//-a ?a169

<-4 20408
-L{ tB6F5

-0.03214



N
I

-cD
a
d
O

-oa
a
T]

l
I

fi)
O
f

O
c)

a
o
CD
O

-f
C

€

-f

T

o
0
O
O

-E

J
o

-190.88

-164.66

-160. 12

-152.55

-140 85

--  -136 96

/-132.1!

---<-128 6:
..-128 

50

or'\

):\
/ \T
\ / /  =

's-Z

r d) ,,/

:l

.l

117.91
117.15
116.00
114.86
l  l ! .58
1t4 43
1 t4 _31
114 03

=
N\\-

\-

-  91.11

=- 1111=.=..- \1 i : :

-7057

- 63,45

,- ?27-2,.-- ii2',--\-- i. -i

i i ; - " ! ra 3s5#e"* l ; ;39P3P!g;,r  
E{[$6€i i  gqPr4$-B:: i ;135, *Epie3e;sEsE:! ]a6di ! ' : rp:  Br. tbr

{5l  'q i t r6 i  I  ?6'"  5 g SE:d6 98. " i
e i  

-  
tu l  i i  -  -  

i

:  -  U E E € E q1 ;  .  E
E -  3 s;  . ,_q s a gl  a Z
[ i , r$:rr t , .  $q!  sse*=""-FHg g*-e i l  " -g: . -E-EHc6: " ,EEEFEg". .  a;g -9!"  * '  ! :
issEaEsb; s-s- ,BH{ sbcsbbbssEr i**r , i i  ; ; r " i ! ;g;EEi[- t  ;EgEgEE3;sH;$u,u=$E:a; ; i  - . ; ; i*€F€*:3s r  = ;  t i  =$$6 i i  ; ; -  ; ; ; ; ; ; ; ;  l i  isess*s^i ,  srs = "-*4 *""--
tn 

"  -  -  xH 
] ]  "  3 l l  o 3BB i i  4666-66 a;  ; - -  d '



T

a
E
(D
c,

-'t
c=

iffi-

2 656!

-;i-

6.7570
6.7332
6.7046
6.6869
6.5720

6.5541
6.4314
6.4136
6.0295
6.424?
6.0167
6.0100
5.9959
5.9e21
5.9756
5.96i7
5. /933
5.5178
5.4834
5.3132
5.2928
5.2793
5.2686
4.29t5
4.2786
4.2660
4.zaAA
4.1994
4.1830
1.1689

3.8456
3.8332
3.8?89
3_ 8157
3.7093
3.6789

,
4-
__--
==-

<
1N-

\N
N
\.\-\\\\ -

\\\.-
\\-
f

/-
3

-
\=

\\\-\\-
\-

I  7374

-  
2.3607

- 
2.3239

*! r i l t r {?q6 3ts6EEqsi  !pr_Et 65e;Fe3Br93d8r iE:tFi l  i r<6pi5 i  - -  e* l i i  Id F- ;  EF:; ,6;  ESAti l
-  = 3-E 2gdi i  :

; i

* f  e, :s er=,  e^- :  " i  ' * "uF: , ts. '  H r :  r  -  :EE -  .PB :-  a ;
ssBdFrarf  ,  

-  
5ei  H*,  ;  EEEU-F HEF es*r j ;E{ [qd

eJessEsbd b_b- lEbE 3; ;* i  333P;5 :?RN-e* 'E?H:HH __fr ;
-  -  

' j  1: ' -  l l
NrNUFerr 

-  I  , i  ;46 I  f lH*^i , ;  333 q
6 i i  66

\Ta
'Pr<oJ,

----.3ii33



N
I

l
o
a

-oq
a
o

:J
I

o
O
J

OJ
c-)

a

o
o

-)
-3
€
d
J

-o
o
O
O
C

I)
o

, /
ao
o

-152.55

F140.92

/- i1a 76

__\_ 
137. 11

-137.02

-129.38

<-127 
29

-121 
1l

t r1.49

\\1.24
115.89
114.80
114.61
tt4.47

-'-'
--\

\\

-  91.33

-/- 

11 l7

----.- ;; ;;

-<13l i

-  63.42

- 51 .21

- zz'"i

-  21.33

nni ldrJ: ;a ddb66Yir : ;F! . ' ! ! i rq i i ]  
: j  l i {6gi  dE>-:BrAtEn:-Et ^ l  6Ass3e;RgBEdl?36pJEE;iCi l  38*f iq

= :  . - -*_*??l  6N dtur i  ++==- "  In--  F- ;  p@4". '
= J6e ' -  6-  I

5.9
A2

" : .  3_ L ;
ooN oi l -d6.  z 6iP6 d 

---*6493 

r-93

: i : : l : lgt  =-?-rEH$ sbbbsbssEEF :aser i l  ss: :bb$csbbbgl i  sEEBEEE=;CIFHF;EFH€iC;Fa -- , :* ]
"=E*€*E33 * S ;  EE-----"  i i  " ;BBF i i  s* ss=tssEEE I  ASnggHE^EE HFF :  3

@-

o-

o_

o*

N_



Method Name:REG-ADH-SlPA-1 5mlmin
Run Name:REG lV 891

Date:5/16/201 1
Time:12:54:10 PM

T-HPl lOODAD
1,1
1,1
1,

1

f

E

:
PMP-N^

t /
zrA\"'-O
\\ ,,) 3e

Index Name Start Time End RT Offset Quantity Heioht Area Area
lMinl lMinl lMinl lMinl Io/o Areal Iuvl IuV.Minl t%1

1 UNKNOWN 4.11 4.27 4.48 0.00 99.75 1040.4 94.7 99.746
2 UNKNOWI 4.73 4.80 4.87 0.00 0.25 3.3 u.z 0.254

Total 100.001043.7 o(n 100.000



Method Name:REG-ADH-5lPA-'1 5mlmin
Run Name:REG lV 831

Date:5/18/201 1
Time 5:20:13 PM

REG_|V_831 .DATA - HP1 100 DAD Signal A

\
PMP-N^

l)

r\"'-o
)=r' 3e

__l__
o

F
U)

lndex Name Start Time End RT Offset Quanti tv Heiqht Area Area

lMinl lMin Minl lMinl % Areal luvl [pV Min] t%l
UNKNOWN409 4.27 455 0.00 42.61 712.2 64.3 42.613

) UNKNOWN 4.77 4.81 0.00 6.62 98.3 10.0 o.o tY

3 UNKNOWN4.81 492 5.1 1 0.00 45 20 625 1 06.z 45.202
A UNKNOWN 5.1 1 5.26 5.47 0.00 5.57 69.2 8.4 5.566

Total '1 00.00 1504.8 150 9 100.000

Liz
Text Box
(rac)

Liz
Typewritten Text

Liz
Typewritten Text



T

a
o
o
o
d

-c

o

):.t( )  s
\-"J2.. 

P'rZ

E o,')',,y'

6.01236

ffiili!li
\\\\\L5 e7s86

\\\\L5.e520e
_ \\\L5 e4833

l\\\u: s*s
:\\\ \L5 e2786

\\\\L5 
7868?

\\ \ ' --'--
\\L5 

471s6

\L5.32086
Ls.goo:z

/-4.29412
L-4.27772

// / /_ L?6428

4.-i3t!1:-\\-a 
2ool9

L! 186cq

-3.819313.80692
3.80238
3.79001
3.74382
3.72145
3.5S263

N
\

EIn*r;?a6 3E6HCqsi l  qpf ,et  E;e;FeEBrqBaFdE=;;Fr E*-f iq3* ! i i  i f ;
r  i i  n 2 

--4 

t -  3a -n
OJ
5i-
-sd*

-  E g ;  g 

-  
- - -U ;  P F ba;.  9- .  d d

i i r .H.** i  E.E H-- :  gEE--e BEE =*- i l ,Hq Eel
$ ia i3! I l  :  ;  

-Ef l i  
s ; ;* i i  BBBp;a rBp -{oFu:No66& f i3si i l  334;aAoi&3-- ; ts9T33?; -* lxf ;*E*E*E3B .  r  ;  l * i= i  ; ; ; : ; ; - ; : : ' - - - -  - - - {

//11.36840
///r1 35153

////r1 32257

J//L-7 31160
- /t/-1 25491
{/ / ' f6.77161

/ 
-6.161t3

=,/  fE.  t l ld l

-  /16.16113
//r6.15t8s

///-6.75316
/// 

-6 
7 tlOO

-/7)-a 
asast

: /_6 55571

<::?ffi;
1--:-o s:zsa

\ -6.41737L6 39S32

-0.00008



I
a
o
a
(+

-CD
o

a
c

f
I

@
o
J
O

UJ
c)

a

o
O
d-)

z

J

:r
o
o
o
O
C

E
=

c

-152 82

F140.61

--138.65-137.95

-134 12

/-r?8 
85

+128 80
-.....-128 67

-trq 

18
Its l I .a]

F116. le

\Lrrr  eo

\ \  
1 l { .65

L 1 14.51

90.70

__,-- : ' - : t -:=-- 
;; ;;

-  10.84

-6341

-6127

SJJIJ

-5560

s3si i  qPPS=gi l  ggg€ssqPPssxu i l  3-89939;E9HBl 3
t==1, Rr-ge€l  ?+=3-*9* ' -*  3 i i  ;R'--

i :  i

3r-= g: :3 3 99€H9PIY:9999-, ,  :33g333APoS:B;
333F atsga+SU 33;; tstse3aa3gai i  333333a;339383S
* i i  FssF l i  **  sB=$$EEE i i  ESHEgHH^EF H**



Method Name: REG-ADH-1 5MeOH-2mlmin
Run Name:REG lV 901

Date.5/1612011
Tlme:1:07:56 PM

CCPeBB tmp.DAr: Hfll9q Q4! JfC.ql
1 ,1 001
1,050i
l ,OOOi

s50l
eoo]
850]

B00l
7501
7o0l
6501
6ool
5s0i
5o0i

L
4501
4001
35ol
300]
2501
rnnl,lEl

15I ls
, .1=l!

qlQlal

o(--n'--
-501

-1 001

f

E

I ndex Name Start Trme End RT Offset Quanti tv Heiohl Area Area

fMini tMinl lMinl tMinl f% Areal !vl luV.Minl l%l
1 UNKNOWI' 506 3 t l 5.40 0.00 86.58 1021 .8 105.2 86.583
2 UNKNOWN 660 6 B'1 698 000 13 42 123 4 to_J 13.417

Total ' t00.00 1145.2 tzt .o 100.000



Date:5/16/201 1
Time:1:05:33 PM

Method Name:REG-ADH-1 SMeOH-2mlmin
Run Name:REG_lV_792

DAT - HP1 1 OO DAD

\t"t-Ta
//\""\O

X) 3r
l

E

lndex Name Start Time End RT Offset Quantity Height Area Area

IMinl tMinl IMinl tMinl loh Areal tuVl IuV.Minl 1%1
1 UNKNOWN 4.89 5.06 J. IJ 0.00 5.77 266.9 25.1 5.774
2 UNKNOWN 5.1 5 5.26 5.52 0.00 43.95 1817.3 1911 43.949

UNKNOWT\ 6.92 0.00 5.57 208.8 24.2 5.566
A UNKNOWT\o.Yz 7.05 7.34 0.00 44 71 1304.3 194.4 44.712

Total 100.003597.3 434.8 100.000

Liz
Text Box
(rac)

Liz
Typewritten Text



-8.990?2

1 .861 9{

-7.84??{

_----! 1111t
-1.2649?

ts3.13082

- j .1121(

_2 .4632-t

_ 0.0 000c

E
5- 

-  
g

SCEAqBBx

8

SE

s-s-pH*E

ERSA?
8=5qr

E

EA

AdP

a

3F.eE |  55PEEE"3E:HsApdgE:=3fF ' , i  1g 5- 3 !E:65' i  -  -  I  8-E 5
c",

!?a*
:  i  ; .  .  : - -  ? " .9i -  ;33 

"  ?:  :  . ] j  g;

! . .1 '  ! !P3:;  FX:.  x- ts -- .  r ;;gts i  I  aaBraa "r-3_. J;= "ats! ;
.5-ei '  i  s6g-;6 gf :"  i
- i i "

=z
U)o

f\)

o



N
I

r-J
o
a
cf

-(Da,

v)
n5

H-

I

(D
c)

a)

CN

o
a)
rt
H

€
F-
ct

(D
a)

-r-

- l i l .63

-145.91

F\)1.64

-t  1 l  t?_-r--_i j ; ;5

<ii,ii

-  40.55

- 2).25

ggsgEgi 
EEHHESgESTFEEiI 

EFEeFBBEB=*";1=-'E'Eg5FFt 
gEgHF

c

;;=;=!,i ;;€==,i;=;;l,i =EFFF:g{,=:g;i""::9;:,'i igiFesE l i  **  asFesBFf i  j i  gennrnn^EE H;* U - '*  - j "

J:: ; rEa?L BCsSEqcr

et i
i .  , .  E ! . j
: : " i t la i t  :  !  e
3E. ' ;9:y di ld
; l lsBsE$s- B_B-EE*E
s.EFE$EeB ; .  $ H
s8

EEsggEtgg9 i

I
I

2
;J: : i - - - -" ,P4
aaaagEaaaaF

I

=Z
a

N)

o



=z
@
o

N)

o /- LA1.4t
, / -  8.AIA1

<;irii
\ -  r .sgi i

-  

1 .2629

- j j i i i

+ 9.005{

- 
J. I41t

-3. I2t

-  -  0.  000t

Eg=E=Ea*e *o'*uo*; EEEEi FEsdE*o*E=*-EnEgEF'Fi EEFET
= f  sEe H=== ;  E EE
5;;e#ll3 :-:--s*E !=:-; E=E:=;s:ci -q- 

a'-*: E"E
;€:5;c-J;  

=-=-*;* ;  
F; i  r j  oFf : ; i " r ; ;  - ""993;;B - ls. i



=z
U)
o

l\)

o

a)
a

(D.)
ct
ry
d

€
ts-
ff

(D
c)

EJ

-170.08
-168.0?
---166.01

_<1ll3l
_<1i3ii

-il:til

-----ii.ii

-  40.40

c!gE-i

=;

r . "q

g.

I

$$3s:gees sdEs€Es; €EEgEgi i  g; : .Fi l

i , , :  i  -$* E, E:etr- !  :  i  e -
=e:g; .1;E ;- ; -=El l  ! : ;==i i  q:=r l
i i *e*u"q - '  5 3 ee*;  , l  g* i  i .

FEEersEasE 
gs'c.EaE5E:

E 8sE B

-E
-at :  r - -B g - .E5E33- ;83*H c-.*  & -  5.
aaBaai! :Fis Eas-Rf: , !Fi6-45;38;: iEa33534335;
HfrXS-6-;  6*s I



:z
a
o
o

o
o

,-: 21.!?l
4iiii;;
siltJii---:t:li]ll
-6.9854(
-6,96894

_8.9132(

- l .13012

-L557?2

- 0.0000(

3.99181
3.91899
3.96441
3 .9s4l  C

${tr  J ' ' ; r ;o aesasqes 5i :E i  Fee",sc*.EH"*H.EEEf5. 6pEuj
:  5 j  r  s ddq t  

= '  i

.  f  cFs 9==. ;  I  rE
i .  : ,  ? , ,  ;  i  F i : .  ? xq ;  : "

:5" : : i * : i  : - ! - - ; :1 e=*. '  ssE:; ! , :* ! -"1;E:: .sg ig i
$$*;* ; 'n s s f r  s*s i l  nar-Aa t ; i - - -"-  - - - f i  - -F"

E



ppm N
I

H
(D
a
fr

n
rD

u)

c
I

(D
o+

a)
a
(D
.)
at
r1

E

€
cf

rD
c)
Fro

!q

=z
cn
o

o

-  1?1 .00

-155.66

-149.98

--129.51

-125.3B

tsr10.88

-110.20

<iii i

- i i l !

-  40.70

:gEe::"eHE cAB"-Hsaf di , ;6FT 1 iCi i  ; r ,6 g q-E"";36-. i
i  =H

:9- :9 ; !  :
: -FiE:-  ! : : "  : i^  o ,  i

==E3=eEr;=. i :=, ,s j : l , , t .g ;Fj
HEHHfiHH"F* HF5 e $ 

[g

x3u;5*si1

F
3

;t

s-:-eEPE
s efr

AE:i ]EEE9UsF -  -  a

r j . , I
3E-3t3; ; , t

sEsEsEee

ggg€EsgsssE:F i i
; :XEE ] i

Se
FE a Z
g; 9 E

-o: ;_- ! ,3a3G '
ssi ; : :Hs:s:sEl i
5 i !  eereaa;s i l

EBgggQg9g9 i i  HEi:EFs i i'  *"* '  
-ER i r  - ,  Fui  i i

Eo

Ee E
Ee==--.--EAg l ; ,* := 9l
:s: : : :b:5EF E:s:=l  i

i i  Eges i i
i l "Bi l



\ /
\-=q r-a

tT^,o
D<

o

(It

(D
o
ca
H
F

PF

- 9.4t8(

- litrli

-4""tr1i/- :.,""::

<;,it!:
\i,iiii

- -0.000t

aE "*:** :  '@usEri  -  g5 f i i  33---- . - ;E-- t"Ed4;.dE 
F ;  -  i  =r  d E EgC", ,F EE-=F

-- ' -  " - ' '  ' " : .  .
;€5Ei l€qq 5 E ;  F*t  |  833*; t  3;55 q r
q;

2A
4
ts



N

H
(D
a
G
o
t(D

CN
t:,
ts-
p

I
(D
c)

a)
(t

(D
c)
at
t

€
P-
ai

o
c)

c

(a

-17t.14

--115 2l
-114.21

_BI 15

-113i i

-  40.41

- 0.22

\ /

J_L=/a
$ 

-"po'=
o

$$3;:se* l ;  *o '*=**;  iEgsEgSEEEi gFr lgEgi  
HEEE'EEgEsEEsFi i  

sFFeFsEEs=**E*rrE"EgE*8" 
EgEHI

**;=,g,,B,.,.-**E =:;;=;:;geF ruuF,tF ::€=::$::F;;-F ;FFFFFF*;r,sgu.*c*gis,ri i*fif !*xoc" u s n EE"-*---  |  s; ; ; -"  ; ; - " ; ; ; ; ;F; ;" i l  i f f [ t f f ; ; ; " [  
E

11.48
11.23
r6.98



-a
o

d

-c
3

-6.21755
---6.1?100

/-5.78854
J 5 77144

/-5.47654
// / -5.44241

-?_5.3A549
:-5.37e:a

\-.-s lE5r2

\\Ls 
33826

\:5.24035L5.22001

/-4 5?t3D

//,/-4.50877
s 4.49468

/_4 ?9954

<-4 28507

\L4.28156L4.26717

/-3.84267

\\-:;;;:;\ _ -_-"'
-3.81356

-2.81016
_-2.70853

o
Tl 

-O
-\--P

( I / r
o O.'\

t l

i  AFe;-oE33IE36g6I iZ ' jEJ E!4be
i  F# H, = EE*qB.B, E_:+3,1
i  -a u i  aEP I  

F 6- i
I  o i  - -3i  :  2 ?r
F b; ;  T--  e .B r  I
-  6gE -  

3-s ; . t  9-  F.c

I  EEe:s! .sss"-sd: ;E;s i  -  ig;
I  Ess^68 ss* C :

E

m5o'--
Afia-
1.4732

1.17 44

1.4987

- 1.56898

-1.254?5

-0.00001

iErEr l le6 336U6qsi l
rq -  -  I

-3Ff i

o E BE
Fe; s* i  i l  :
3 i3 i3 l@Bq 

- 
o esJ

EEtEeEse; b.s-cHHE

f ion*Err  
*  F :



ppn Nl
I

-o
a

f
o

a

J
I

o
o
J

a
c-)

a

o
O
d
l
C=
E

f

o

1l 
^rO

\;,( I / r
!t olA

t i

EEi lEtr ' * :e6 BshsEser ; ;gg:SREtgi  Hf*gFEi 5355uugtr ; I36i  
sFF:;3: ;s?386+B,;"3g5;F: 

g: f i :
J i  s -r  i
3 - $ c ? s C c: 'A 

+ FF .  i  . '  ;  q c = ;C n *  a:  r  .
! ; ier : . .8 .  EoE EHss---=i i i  ur-u l i  , re; . .s_FFFi. :  ,EE;sEe*.r ;g$E "u*"- : ; "E;  ; ; idsecb-c$!;  g- ; -?H$f l  ! !5=i5=5eeE F6;; t* i  ss. . .g:acsBBsHr BBBsssa;da;ad:. ! ;HBrB63B --a6.;

'1*=-*r , ,  

.  i  i  EE-""-"_ i  5; ; ;  - i  ; i -  ; ; : ; ; ; ; ;  i  ; ; ; l i ; l : ; t " [ : ; - " - - ;  " - - ;  -g ' -

T

o
o
O
o
C

3
l

@

-138 

15

-134.57
/-129.6r

J t29 3A

-rra 

ra
R\

\\Lr28 68

\Lr27 56
Ltzz: t

- -119.09

- 
91.99

- 
91.41

71 49
17 23
76.98

7l  .1A
71.07

-.'

-

- Z:,AZ

-  39.37



Method Name:MS-ADH-1 OMeOH-i  .5mlmin
Run Name:MS-5-238-A-2

Date.4121l2Q11
Time:4:59:29 PM

CCP873.tmp.DAT - HP1 100 DAD Signat A

i

f

E

fr/leOzS.r-[

,A,J

I
t*

I  ndex Name Start Time End RT Offsel Quanti tv Heisht Area Area
lMinl fMinl lMinI Minl f'k Areal tpvl pV.Minl l%l

2 UNKNOWN 305 327 3.46 000 4.38 933 147 4 383
1 UNKNOWN 4.12 4.35 4.88 0.00 95.62 1346.9 321 .5 95.6't  7

Total 1 00.00 1440 3 336 2 100.000



Method Name: MS-ADH-1 0MeOH-2mlmin
Run Name:MS-4-198-1

Date:5/16/201 1
Time:3:18:44 PM

F
MeOrS.\1

Ph-o
5a

MS.4-1 98-1 .DATA - HP1 1OO DAD

lndex Name Start Time End RT Offset QuantityHeiqht Area Area
tMinl tMinl tMinl IMinl [% Areal IuVl luV.Minl t%l

3 UNKNOWN 4.37 4.51 4.66 0.00 32.95 JOY,U 34.3 32.949
4 UNKNOWN 5.61 5.76 5.96 0.00 32.99 295.2 34.3 32.987
1 UNKNOWI 7.02 7.2' l 7.41 0.00 17.18 130.3 17.9 17.176
z UNKNOWN 8.21 8.43 8.64 0.00 16.89 109.7 17.6 16.888

Total 100,00 904.1 104.0 100.000

Liz
Text Box
(rac)

Liz
Typewritten Text

Liz
Typewritten Text



Method Name:MS-ADH-1 0MeOH-2mlmin
Run Name:MS -5-027 -A-f9-1 3-2

Dare:511612011
Time:5:13:39 PM

DAT - HP1 1 OO DAD

NMs
l l

r iYn*
\)

4a

44 .,o

(n-2
99% ee

Ni(cod)2 (10 mot%) MeOeS- ..-':

W5;
TBAT (i.0 equiv) 

' Ph$' 
-u

THF, _20 "C (gR)_sa

Index Name Start Time End RT Offset QuantitvHeiqht Area Area

lMin lMinl tMinl IMinl [% Areal luvl IuV.Min] %1
1 UNKNOWN 3.64 3.80 0.00 78.95 136.8 13.8 78.953

I UNKNOWN 4.53 4.67 4.85 0.00 21 .05 32.8 3.7 21 .O47

Total 100.00 169.6 17.4 100.000



Method Name:MS-ADH-1 0MeOH-2mlmin
Ru n Name: MS -5-027 -B-f 1 4-1 7 1

Date:5116120'11
Time:5:12:25 PM

MS-5-027-B-f1 4-171.DATA - HP1 100 DAD

ea'.24
Ni(cod)2 (10 mol %) MeO2S.- . Fwi-)T(Ol:Pt)4l3o mdT) .Lo(n-2

99% ee
TBAT (1.0 equiv)

THF, -20 "C
Ph- r,'

(S,S)-sa
l

E

Index Name Start Time End RT Offset QuantityHeisht Area Area
tMinl lMinl lMinl lMinl [% Areal IuVl tuV.Minl l'/o1

1 UNKNOWI ?Aq 3.83 5.VJ 0.00 21 .81 77.5 21 .811
2 UNKNOWN 4.54 4.68 4.85 0.00 78.19 245.2 27.1 78.1 89

Total 100.00 522.6 34.6 100.000



T

U'
E'
o
O
af
-l

c
3

/-7 .13556

t-7 .a1969
___,/_/- 7 .39942

-7.38356-7.26034

\-u zoses

-7.19351

.17032

.07760

.81433

.80?88

.74454

.78125

.76437

.37053

.33641

.23S13

.?1909

-6

/-?
J-'

\-5

--s

-----5

-_=-;

z" 51331
50105
18728

--1 
27536

=--. .?5770

-4 
24312

3.84604
3.83532
3.82813
3.81740

-2.78796
-2.68786

-2.36449

-1.55A96

-0.00014

i |+{ ' ; r r ;  33-6gqs's E:=E i  E$=-"EeB;g36pdF-c4JFi EEEE:
ei}  l

5 f i  -? 
;E

c e I  e 2 ---  
3 i  + 1

I jEEF:- ' .Ps-.1,9- I  r :  r  -  Ee-6 ae8 jo : l  n ;s6E: i :ar6 -  -  Hs? {--  :  EEEg-T €B: 3- e-: tu:F rs;
5*isssbi ;  ; - ; - r !uE l i i ' t  t :q.qE-:* i6-oo*se+E!E! -- lE5{-E*E-E33 = i  ;  iBa i i  Es8^ 5 ss+ s ?q- i  -  '  "  "  3 'E

HF
K=ficr 

"-\



T!
a

-z

.r^11
t l

(rl
ct

-119.30

_-1i6 A5
_<il; ; ;

---li? \i

- i t t i i
- IT9,B5
-118.9?

- 
92.45

-91.18

_<i i t l

41.48
19.52

11.49
??.44
11.23
76.98
l1 .16
11.01

62.09
61.t9

-

e5 -  -  -* : :a=<rFEr:  g i*Eag EE"- r  Eag36 REESI

'  = 4.9 7
-35 3 E .  E =E

I F 6 g 9= p 
"  

$

:  
-  

5 r  *  . -"  = F B; Y F ; ; ; ; : ;  : -3 3A -9 
:  H

. = P i i  EE ;  3 A
iE.e-e='  

.  s.  EH s"E i i  " -  "F"EEfr  iE8E888B EE 8--  E r  E
ts

E
E



Method Name:MS-OD-2.5mlmin-2.5-MeOH C3
Run Name:MS-5-211-A-6

Date.4l21/2011
Time:5:04:00 PM

CCP876.tmp.DAT - HP1 100 DAD Signal  A
L
I

r nqni-
""-- l
1 oool

l
e50]
e00l
B50i HrfeOzS.*,[

/d\J
\) 

5b

f

E

o

O
O

I
F
U)

lndex Name Start Time End RT Offset Quanti tv Heioht Area

[Min] [Min] lMinl f Minl I% Areal Iuvl IuV.Minl t%

1 UNKNOWN 6.90 7.15 759 000 97.68 202.6 56.9 97 675

2 UNKNOWN 8.08 8.27 8.54 0.00 zJz 55 4A 2.325

Total 100 00 208.1 58.2 100.000



Method Name:MS-ADH-1OMeOH-1 5-mlmin-1 10mbar
Run Name:M5-5-237-RAC-5

Date:5/18/2011
Time:5:03:11 PM

MS-5-237-RAC-5.DATA - HP1100 DAD Siqnal A

e5ol
e001
8501
sool
75oi
7001
b3u

600:

550:
500;

: 4501-t 
4ool- l
35ol

veozs.*_[

^/J\) sb

Index Name Start Time End RT Offset Quantitv Heioht Area Area

lMinl tMinl IMinI lMinl [% Areal tuVl luV.Min'l t%1
UNKNOWN 8,34 8.60 8.82 0.00 37.51 891.6 toz. I 37.513
UNKNOWN 8.82 8.99 0.00 37.92 788.4 164,5 37 924
UNKNOWN12.08 12.35 12.65 0.00 12.40 lJo.z E2a 12 399

4 UNKNOWN13.18 13.47 13.84 0.00 12.16 193.0 52.8 12 164

Total 100.00 2109.1 433.8 1 00 000

Liz
Text Box
(rac)

Liz
Typewritten Text



oo
o

-z

\,^lt
t l

N
I

(D
(n
fr

(D
e,
a
o

(D
a)

a)
1.54964 A
?.53852 6

?.50402 H
7.49835 F

1 .2623( _
1.1025r =

7.0684( b-

iI

a,(D
a)

c

P-
p

(a

tr
J4
=

:

F
,/,/ aJ/ /a- 
//r

J?
_4
-ts

N
\

F
rF

N\\-

N
\\\F
\\f
f

-2.82281
-2 .7 613 C

6 .1 8451
6 .0 996t
s.80324
5.?8?53
5.1832t
5 .7 584i
5.  ?5362
5.14924
5 .  ? 3: l6l
5 .4 84?t
5.45065
5. 19861
5. l?B24
5,16??(
5.3335?
5.2496i

.22934

.\r99..

.5059r

.4933i

.4199i
,4692t
.29524

.25291

.2342C

.21821

.2129,

.2 008t

.8 93 9i
88? 4l
81 641
B698:
8 3131
82 64:
B1 965
8085(

5 6101

2\4\2

- t

_ l

-  0.0000t

rEr:ar i ; -  Fs6Sger"r  aE:<i i  EEe;pcaB=gs;pBFE;lC;-  EE€Ee
€--4AeSEPI"" ;3-"6

5 aeE 2
13|4

5 6 E. =F
E 

-P.-  
E E i  JP

, e a E a E :3= E 
^ 

A
:--Lb!r=3;--E5-:B:;

:sE:E5::F -  *  HaE !  r  EEE!-e EEE qr. t l :EF +*AEH[=====L] ; - ; -nFFA H5d= EEE33s:FEs--FrerE=Ee +-pe
=-. ; ; ; ; ;  ;  -=-P ' - - ' - - -F **6"

EE6 l r  sBBrgi  BSS q F
e; 

= "  .  .  3 -  g^



T1

ts\F
Vfi

)-z
( I t ro 

".r\

-  164
-162

115.81
115 .7 l
115.64
115.55

9A .12

71 .19
70.91

11.49
11.23
t6.98

-6)AB
-bl8l

_ l9

=

-  0 21

3le-Igar i  E8€€gp3:-E:: : i r i  :6F=R?eiEcHs;CB;€EeBAF; '  EEEE.' -  P-E : !€E "  - : :  4E E
- i i  -s s gHsg'-a '  

:
3 3 -  €-  t  5 H

" 
E qB 

-  
I  EE i  ;  t

i  .F g.  : '  *  F ; ; ; ; ; ;  : - -  ; ;  -B s
S' g 9: :  5- ;  F :Eg- r  -aa==aaN = EhB ^ € B.q 3 '  i .  g

Ei=:,x[  =bE:! ;E=:; : ix i  !EE:EEE:acgEEi,erEF;E;sB --*ggEEEfi  i i  *F BBEEBss'i i  -  " - -ssd Ef iHmmEfr" f t f i  Hss E H g
6

B
g

5

;E

- -q!  

f taF

E
a=

l
l"t



Method Name:MS-ADH-1 OMeOH-1 .5mlmin
Run Name:MS-5-211-B-1

Date.4/2112011
Time:5:06:08 PM

*"ort.T{

7d-o

,v 5c

l

I
I
I

I

I

uoo]
I5501

5001

+soi
l

400]

rsol
3001

i
zso]

,01
1501 n

10

''BlFl
.31r1
J LIFIal ' lr-

:)
E

/ \A
[--- *J*-i[,

.DAT. HP1 1OO DAD

I  ndex Name Start Time End RT Offsei Quanti tv Heioht Area Area

JMinl lMinl lMinl f  Minl l% Areal tuvl lpV Min t%1
UNKNOWN 4.59 4.74 4.88 0.00 4.69 30.8 3.5 4.691

2 UNKNOWN 5.1 3 3_J I 5.58 0.00 95 31 579.6 713 95.309

Total '100.00 610.3 74.8 100.000



Method Name:MS-ADH-1 OMeOH-2mlmin
Run Name:MS-4-291-1

Date:5/16/2011
Time:3:19:30 PM

f

E

MS-4-291-1 .DATA - HP1 1OO DAD S

""ort.T{

,ff':
1
1
1
I

1

Index Name Start Time End RT Offset Quantity Height Area Area

lMinl IMinl IMinl IMinl Iok Areal tuVl luV.Minl 1%1
1 UNKNOWI\ J.3Z 3.65 ?74 0.00 42.13 402.3 34.9 42.135
2 UNKNOWI\ 4.00 4.13 4.27 0.00 41 88 374.9 34.7 41.882

UNKNOWI\ 5.41 5.69 0.00 795 59,3 o.o 7.954

UNKNOWT\o.uz 6.17 6.35 0.00 8.03 56.2 6.6 8.030

Total 100.00 892.6 82.8 100.000

Liz
Text Box
(rac)

Liz
Typewritten Text

Liz
Typewritten Text



oo
):\ F

3Yj
g

1.2634i
1.t2491
7. l0B1l
1 .09131
?.08811
?.06011
r .0 0951
6. B9r6€
6.8841 t
5.8i525
6. B682(

EJ/C
4-

,
?

__.--

N\\\-
\

-  6.  1 556C
- 6.061 51

-5.81444

-5.41t31
/ '  

-5 
.4i1l l

?-5.t88r]
J.. . . . . - r .J01er
_ 

. -q 
lqdt  r-\:--r.zss6r

- !5.2:182f

.524.t t

.5t264

.21BAi

.2641i

.2 505 1

.24644

.99r34

.95421

.9102 1

.898 5 !

.8164:

.86921

.8 585 t
L 85121
1.84064

-2.8009t
-2 .10182

- 1.5 61 9{

-  0 .0 0001

UE > O q

:N E- ?-B

*

3a

BF"

EgABPEE
a

3E"E
i i

3

d; "  '



N
I

H(D
(n
ct

H
(D

(n
E
P.
F

(D
c)
o

a)
(n
E
(D
a)
ct

€
fr

9,
o
c)

o

P.

(a

oo
ts\F

- l .noY. P'
)-z

g d-\
il

o

149.86
t49.24

136.0?
r34.65

Ll0.40
n9.94

<ii:iii
110.91
110.84
110 .4 9
110.11

9i .99
91..26

71.48
11.23
16.91

71.08
10 .97-

62.1r
51.59

56.18
56.13

- 0.21

d1.55
I9.3?

3EE:F3i i  ESgEPPEEE:i3Fi i  E55=X=9HFEBtsJgB6gEEE:f8TT EEE;?n--drFi i  FI€E"-"-"-*  - i i  aa--*  E- E EESEF E:qEi
" l - - - :  .  Eaos 6" i

.  E *€ = E H; i  r i
i  F Bt :  F ; ; ; r ; ;  : -3 g? 

-c :  p
s *  6-  3;  ;  *5- 

-  
;aaa=g *-g;B gEp =; +."e

E!; ;ogl  SEPi! !H:EEE[; i i  !E35EEEE3=fEHs*FE*e==E]EH -- ;9F*--E t i  " -  nn i i  gfr f r f i f r f rH-E6 n** a $ E
x

3

4

c
o=



Method Name:MS-ADH-1 0MeOH-2mlmin-1 00mbar
Run Name:MS-5-238-C-1 0

Date:S11612011
Time:4:23:57 PM

CCP9CD.Imo.DAT - HP1100 DAD Sional A

|'--Meozs.r-( l

I )

E

lndex Name Start Time End RT Offset Quantity Heioht Area Area

lMinl IMinl IMinl lMinl lo/o Areal IUM tuV.Minl t%l
1 UNKNOWN 5.63 5.82 6.00 0.00 49.5 / .o 5.534
z UNKNOWT\ 6.01 6.23 6.51 0.00 94.47 760.1 130.0 94.466

Total 100,00 809.6 137.6 100.000



Method Name:MS-ADH-1 0MeOH-2mlmin
Run Name:MS-s-1 81 -B-RAC-2

Date:511612Q11
Time:3:40:01 PM

ccP9BC. DAT - HP1 .IOO DAD

650

600

550

nfeozS."-f

^/\J
M"oP 5d

l

E

lndex Name Start Time End RT Offset QuantityHeisht Area Area

fMin Minl lMin IMin [% Areal tuVl tuV Minl l%
1 UNKNOWN 4.41 4,63 4.81 0.00 30.75 398.8 50.4 30.754
2 UNKNOWN 4.81 4.96 5.24 0.00 . ln ?o 375.2 49.8 30.389
3 UNKNOWN 5.83 6.06 b.J5 0.00 19.41 208.8 31.8 19.413
4 UNKNOWN 7.67 7qR 0.00 19.44 178.5 31.9 19.444

Total 100.001161.4 163.9 '100.000

Liz
Text Box
(rac)

Liz
Typewritten Text



tr
/,g-

--

N
\

--'-
,trv-
\

:4
N\\-

f

/=
,// r
///-

4
€

N
\\\L

\\L-
f

F

)-t,f
-* ot'\

(n
o
(D
.)
ct
H

6585
655[
6431
5401
622i
607 I
5861
3849
3 69!
354f
2 685
26r(
252'
231t

4182
401t
0754
059t
0553
040?
02 5{
4212
0051
5\3t
5195
493t
458€
437 t
416t
190€
3104

6.
6.
6.
6.
6.

6.
5.
6.
5.
5.
5.
5.
5.
5.
5.
5.

4.5281
4.5131
4.252(
4.239t
4.2343
4.2241
4.1.19 9
4.128]
4.r21(
4.1101
3.819i
3.81 62
3.851{
3.858t
3.8161
3 .8 01(
3.1911
3.?853

2.981(
2.922t

-  1.559'

- -0 000(

tErrr l? io= agE3gB9,1 qFFEi i  ESssgga^BIE8;3JE;;r8X ;QF63
a * 4s d f ,  

-Ei ' .  

J3--6
- 3 RoE 7 a :

FEd

-=Pu e .  EB6 333x65 8ss g F
d3 "  "  "  '  3 -  A



a

(D
o
G
r\
F=

?t.482
11.22t
15.91 A

?0.54:
?0.17t

62.\42
62 .4\2

t .J 6 . l0 i
| ]5. : ] l t
I l5.145
1J4.521
Ll l .80r
Ll l .551
Lt i .07t
L I  0.894
I29.11i
129.10{
L2l .50t
I2?.144
124.09(
121.101
120.111

E
4-:-

s
\N=\\

\

/:\/ \o
\ / /  none
@ l-z
- / \ \

(rr ""t)
o l l

B:93fr3€EEEi.83 EPEAS
E ESgH6 89FqF

E =S

a-a 
-  

€an 3- i .g
53- Agg-: :=g Fgg

;3A
8"" I  d E

H

91.Bl :
90.165

..-

-  41.41t

-  39.0t :

'  -*-s!+".  i i3! !?!93: E{rgqg EEEE€sSEBi i=€'  sSEssleFFE
:  "  

' - .^ '€e

-El-9StsE??
e E 

- 
E oB * 4,

R U.E E 3 H
H ;  s =- EEo r  * '  A=HEs S- s 5-c !s F sEs* I  -EEEFEE-;f r  :  :  *gSB E!!EEE!EagH H:; : .s : :FF::F: : : : ;E :E=5=EEF:s

s F $ EE------  i i  Feee i i  **  B, .FeE6EE f l  Ef fEmff$m"EE

l
J



Method Name:MS-ADH-5MeOH-2mlmin
Run Name:MS-5-217-B-2

Date.4l21l2011
Time:5:07:58 PM

CCPBTA.tmp.DAT - HP1 100 DAD Signal A
850[

8001

750]

7001

6501
6ool
550i

5o0l
I

4501

4ooi
I

35ol

t"ort.T{

/=-rt
\A* se

f

E

15

10

5

lndex Name Start Time End RT Offset Quanti ty Height Area Area

IMin] lMinl tMinl [Min] lok Areal luVl tuV.Minl t%l
1 UNKNOWI\ 6.39 6.65 6.98 0.00 92 78 705.8 130.9 92.776

2 UNKNOWI 6.98 7.25 752 0.00 7.22 50.0 10.2 7.224

Total 100 00 755.8 141 1 100.000



Method Name:MS-ADH-7.0MeOH-2mlmin
Run Name:MS-5-1 82-A-RAC-2

Date:51'1612011
Time:3:41:55 PM

MS-5-1 82-A.RAC-2.DATA - HP1 1OO DAD

:)
E

I ndex Name Stad Time End RT Offset Quant i ty Heiqht

lMinl lMinl tMinl lMinl IVo Areal Ipvl luV.Minl t%1
1 UNKNOWT 5.48 5.66 5.85 0.00 39.06 494.5 AO? 39.057

UNKNOWI 5. 87 6.27 0.00 460.9 oJ.z

a UNKNOWI\ 7.19 7.38 7.61 0.00 1 1.01 1 16.0 19.5 1 1 .010
4 UNKNOWT\ 8.11 8.32 CAE 0.00 10.94 108.6 19.4 10.939

Total 100.001179,9 177.4 100.000

Liz
Text Box
(rac)

Liz
Typewritten Text

Liz
Typewritten Text



m
o
(D

.T
5

583:
569t
56Bl
5414
544i
431t
421t
4244
4r4(
40?t
4031
399t
t92[

26rt

?489

580t

I94
584i

555t

,tr

F
V8q ><.F

"-/]

5R

E

€

6.266t
6.2454
6.2t19
6.2144
5.12t1

5.4481
5 .413 |
5.4014
5 .367t
5.1451
5. l i6!
5.114!

=t
=_

-  0.0001

__Z/-

,t
-Jra-
=S

\

05 4Z
961i
949t
844 1
8262

ez
E6eHB=3EEgs;EdeX=
14 ;*  !  i6E

+ g P==
a 6'=

E5-a

Ng NE Np = 3

?3:

a33E3Lts:3;  8:d *3



ts
I

tst
(D
a
ct

H
(D

(n
o

F.

I
(D
a)
F

a)

a
Fd
(D
.)
-Fl

{
P.
ct

(D
c)
o

c

(q

Ofiq }.rq

- -1 lg. i9

r29.1 4
r29.44
128.?6
128.66
128.08
t2l  .1 \

--''
N

Y

_z-
N

\

-116.62-116.26

- 
ot).7,2

11 ,91
7?.48
11 ,43
11.32
11.2)
?6.91

--  41.54

22.49

-22.06

YJ ;=; ; ;

iE , jge

3E 
-*Ag;

;p

FE=dEE=g;EBEX;
; -  !  n6+

p*

Ei,
33 A" A

99SE3EE=ts*3 i i

i i

F:LLK;; ; ; ; i i i

t i

a !H=AEf EEE i i  A

tsaaats5l  3

5E i l
5

: ;  s3: ie

F

r:  R



Method Name:MS-ADH-2.5-1 0iPAGRAD-1 .5mlmin-1 1 0mbar-2
Run Name:MS-5-240-1

Date:5/16/201 1
Time:2:42:23 PM

MS-5-240-1 .DATA - HP1100 DAD Sional A

MeF
MeOzS.*\

*,J
Wsr

r2501
2401
2301
2201
210,
200,
r qnl

1 B0l
170!

I

1 60i
1 501
1 401
1 3ol
|  .vl
1 101
1 ool

qnl
- - l

I  n0ex Name Stad Time End RT Offset Quantity Heiqht Area Area
lMin IMinl IMin lMinl [% Areal tuVl luV.Minl t%l

1 UNKNOWI tz.ol 13.05 13.50 0.00 19.41 21 .0 7.1 19.412
2 UNKNOWI\23 28 23.50 23.80 0.00 80.59 193.8 297 80.588

Total 100 00 214.7 36.8 100.000



Method Name:MS-ADH-2.5-1 0iPAGRAD-1 .5mlmin-1 1 0mbar-2
Run Name:MS-5-241 -RAC-1 3

Date:5/16/2011
Time:2:39:19 PM

MS-5-241-RAC-t 3.DATA - HP1 1 00 DAD

Min

lndex Name Start Time End RT Offset Quantity Height Area Area
lMinl tMinl IMinl IMinl [% Areal IuVl luV.Minl lo l

1 UNKNOWN 11.47 11.71 12.42 0.00 16.75 104.8 34.4 16.750
z UNKNOWN 12.94 13.25 14.09 0.00 30.48 162.3 62.7 30.482

UNKNOWI\20.24 20.46 20.89 0.00 17.58 187.6 36.1 17.578
4 UNKNOWN 23.61 23.87 24.46 0.00 35.1 9 JCJ.Z 72.3 35.189

Total 100.00 807.9 205.6 100.000

Liz
Text Box
(rac)

Liz
Typewritten Text

Liz
Typewritten Text



(a

o
(D
(n

,Q=t;,
( o*'-
\-,'-^-

-rl,p-.

I

" ' " | -

to

(-F O t!

t 'Cr: 
.O

' r t ,

*. {Cr 'fu

o
e

#
{k-
'€(}c

'rr.

,.t'te o
*{g. \

tr

o"o

I
N

r l r r r r r l r r r l r r r lr-rffi-Tl l l lT r I I | | I I I | | | | I I | | | | | | |

id{6u
tJ

oF@=b<b !oFo€bcJ

E€ U d=

e
gegEEc ERgggRgEE $Esee EsssPcEssasgHEeE€HEEFE EE-E

* E E* = 
*-----gFi l  -  

i i  
f i  E HEE'r= 3-="

i i  i i  -  :  dg
- a :  r i  = B Ei
H 

-  -  € E C 
-  

====-= o ?:  .E H H
g'  F :g E z,  ssE .  F 3s33aa * L: ' -E eEq EH i*E;  h:"xI  i  5ss---- l l5 $*=- E EEE€EEu.I .EEl E=5*8-=EE t i 'ca R:sSB E ; ; : - ; : - t ;EEc e; ; ;*F aaa -^-FEHE: - '_EBgd Aof,--Nb 

----666o6d 

JoooE

5 esr ts6****** A FBE6iaanAHH-FFAss E EA
H 5 "  H B i r  .  Bgggl i i isa

OEO<

EA;B

o @o€F5

EE<BTR



m
15
(D
o

-t

{4
I.2
I

o)

=Bxxr3?!-  sc6SFeFJ EEsEl 
-qeFpEaErgs;3€EE=F93 

€*=s3c: e -  = 
:  - -  -  eq E- E EgE- ' -  EEE*d.  5 "  

E 
-"E 

.a "  i
q 3 E. =F
;  "9.  E ;  F 3r

i^ i  i  I  F F : : :  : - -  ? *s i  uie;  s* E s € s e EEE- s E€E "_ 
EB..F= F.B:53:se;:6 -  -  =cc - .  !=E_ine$ FFPid:EsE=s; =-=-=€iE Fss=i :  EEE3=3i!5S--=; ; :E; :# --?r;

SqsE*E3e s = $ EE6 i i  r ra-AA sss q E-"
! - i==*.3

9<
=-6'a

r ' \  b
"-/d\

-1 2649t

/-5.8592t
/-5.84638

//- \ .8J84t
t4-5 825r:
: - -5.81197

\v5.80{04L5 7911.

J_5,42]A]

--5.3420,
-5_12tr f

-5.4149t
-5.00041

4.1013?
4.08911
4.0180{
3.8003{
3 .1 923t
3 .7 780f
L??015
l .63s6r
3.623IC
L 6133?
1.60081

N
f

-3.0054i

-  1 ,2 5363

-  0.0000(

Liz
Typewritten Text



N
I

15
(D
@
cf

-(D

(n

I
CD
c)

r)
a

(D
.)
af

-.=
€
H.
ct

p,
(D
o

o

ts-
p

I
I

L
I

CD

9<
+-ii:*

-a 'oo-tA
- \ \

-134.92

-118.64

-  aJ\ .25

- 58.11

-  42.1t

?9PFPPPE S5X-O9CS;FEBE:Eg

Y F ===?:o

9d=x=

a

3ECe5E I  3389

s-- ts i i . .

sGFSPPPPEE ]

B

! -  H5?

=2



'l'l

o

\\ //
@\
a+z
Ur/U)

Io
1\)

o

[$sse;e*a 
3c5s€BB:

F8.r059t

-8,0898t
1.8r13t

-1.8011(

-1.2654(

-1.5810E

- 0 .0 0081

BE

8:frs:

i;
7.

E 5 E d E E B3; s E 6 a d e !  !  i  F 3

E E AEU
.8



t!
I

ry
o
a
cf

FJ
o

a

F
I

(D

a)

a

(D
.)
ct

-
{
P.
ct

a,(D
c)

F
tJ

ts-
(a

-170.18

---i12tri
-135.10 111 .44

,-l1l 11
4'i;z):'--ti lt i!

<ii,ii

-  40.10

. "Ei5ePeeGEEsBigy;b. j :3; ;F. '  3[
xs J ;  !v- i ' .  2a

I  8- ;  X -

?:3C€99CgCi 5Ei '5F3, EEBEpSEIe":sq' i
RE' i  ' '  X,  I :FF i

c '
BgQ9
Es E cE t  E

' : - - .  : : I14 ta.?:  : .€! :  ! .999Y,,

r  EESE i i  FS EESggEt;  i
83 a I  '  333 |

n

aE - -

e

: " : i t t -Bir  R

.To

\_1
@\
T Y.7ur J6ro

k
o:l

l=-l
"1

:l

l
l"l

e."
Ef l
?9:

6




